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CHEMISTRY

BOOKS - GRB CHEMISTRY (HINGLISH)

ALCOHOLS AND ETHERS

EXERCISE 1

1. An alkene obtained by the dehydration of an alcohol (A), on ozolysis

gives two molecules of acetaldegyde for ever molecule of alkene. The

alcohol (A) is

A CH;CH,CH,OH

B. CH;CH,OH

C.CH;CH = CHCH,0H

D.CH3;CH,CHCH;

|
OH


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_VxcQJKyb6tc1

Answer: D

° Watch Video Solution

EXERCISE 2

1.R - COOH — R — CH,OH. This mode of reductoin of an acid to

alcohol can be effected by:

A. Zn/HCI

B. Na-alcohoi

C. Aluminium isopropoxide and isopropyl alcohol

D. LiAlH,

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_VxcQJKyb6tc1
https://dl.doubtnut.com/l/_sA8QyDR2xVxq

EXERCISE 3

1. Find the major product of the following reaction.

%’5’ 50(:12 .
| ' (CHy):N

“, :
@


https://dl.doubtnut.com/l/_MPnRXwl4ovzA

Answer: A

° Watch Video Solution

EXERCISE 4

1. What is product of the followin reaction:

‘f"/\f/_ PCC

OH —-OH
T
” >=Oxé~o
A
S


https://dl.doubtnut.com/l/_MPnRXwl4ovzA
https://dl.doubtnut.com/l/_fdkfDounIALI

OH
(d)

Answer: C

o Watch Video Solution

EXERCISE 5

1. Perdict product of the following reaction,

NaBH
H;C—C—0—C,Hgq -

A.CH3; — CH; — OH

B. No reaction
0

'
CHsC -C—-0OH

D. H,C = CH,


https://dl.doubtnut.com/l/_fdkfDounIALI
https://dl.doubtnut.com/l/_WvMa0AhPEdKC

Answer: B

° Watch Video Solution

EXERCISE 6

1.1 — Propanol and 2 — propanal can be best distinguished by

A. oxidation with alkaline KMnO, followed by reaction with Fehling's

solution

B. oxidation with alkaline dichromate followed by reaction with

Fehling's solution

C.oxidation by heating with copper followed by reaction with

Fehling's solution

D. oxidation with alkaline H,S50, followed by reaction with Fehling's

solution


https://dl.doubtnut.com/l/_WvMa0AhPEdKC
https://dl.doubtnut.com/l/_X34uD9M6yP5O

Answer: C

° Watch Video Solution

EXERCISE 7

1. On heating glycerol with KHSO, /A, a compound is obtained, which

has a bad odour. The compound is:

A. Acrolein

B. Formic acid

C. Allyl alcohol

D. Methyl isocyanide

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_X34uD9M6yP5O
https://dl.doubtnut.com/l/_uFI1wLidTLtq

EXERCISE 8

1. A compound X with moleuclar formula C3HgO can be oxidized to a

compoud Y with the molecular formula C3HgO-. X is most likely to be a:

A. primary alcohol

B. secondary alcohol

C. aldehyde

D. ketone

Answer: A

° Watch Video Solution

EXERCISE 9

1. Identify (Z) in the following series.

. Alc. | KOH (i) HySO4/ (Room temp)
Ethanol -2% (X) y (v) ' (2)
(i) (H50,Heat)



https://dl.doubtnut.com/l/_c3bircmcDsGj
https://dl.doubtnut.com/l/_wlcyS3DzEOak

A.Cy = CH,

B. CH,CH,OH

C.CH; — CH, — O — CH, — CHj

D.CH3; — CH, — SOsH

Answer: B

° Watch Video Solution

EXERCISE 10

1. Which of the following is not characteristic of alcohols?

A. Their boiling points rise fiarly uniformly with a rise in molecular

weight

B. Lower member have a pleasant smell but buring taste nad the

higher ones are odourless and tasteless


https://dl.doubtnut.com/l/_wlcyS3DzEOak
https://dl.doubtnut.com/l/_SxL5Na8r68bF

C.These are lighter than water

D. Lower member are insoluble in water and organicn solvents bu the

solublity goes on increasing with the rise of molecular weight

Answer: D

° Watch Video Solution

EXERCISE 11

Dil .H,S0,/ Hg* )
1.A —— 1 — Methylcyclohexanol. Here A is:

(@)

A.

(b) @


https://dl.doubtnut.com/l/_SxL5Na8r68bF
https://dl.doubtnut.com/l/_xjtrrZ8LtbYW

(©)

D. (d) (a) or (b)

Answer: D

° Watch Video Solution

EXERCISE 12

1. Find the product of reaction

O
i/\/“\ 1. NaBH,, CHyOH
H 2. Dilute H® A

OH

(o]

@ o~

OH


https://dl.doubtnut.com/l/_xjtrrZ8LtbYW
https://dl.doubtnut.com/l/_ceDe6LvTTf2F

)
(b) )
(c) HO/\/\/\OH

0
D, @ Ho~ >~ \)K(m

Answer: B

° Watch Video Solution

EXERCISE 13

1. 2-Phenylbutan-2-ol can eb prepared by which of the following

combinations?

A. CsH;COCHs + CoHsMgBr

B.CoH;COCH3 + CsHsMgBr

C.C¢HsCOC2Hs + CH3MgBr


https://dl.doubtnut.com/l/_ceDe6LvTTf2F
https://dl.doubtnut.com/l/_AbUkBThPQYlN

D. All of these

Answer: D

° Watch Video Solution

EXERCISE 14

1. Predict tha nature of reducing agent in the following reaction.

) H
0O—>
OH
A LiAlH,
B. NaBH,
C.H,/Pt

D.Both aand c


https://dl.doubtnut.com/l/_AbUkBThPQYlN
https://dl.doubtnut.com/l/_3FJfvMqquBeR

Answer: C

° Watch Video Solution

EXERCISE 15

1. The correct structure for compound B will be:

(i) PBry _ CHyCH,CHO _
/\[/ b 1o Al 5]

OH

@~ Y “oH

(b)/%

B. OH

A.

OH

(c) /\/‘\
C.

OH


https://dl.doubtnut.com/l/_3FJfvMqquBeR
https://dl.doubtnut.com/l/_aMQqaiEUSjkA

Answer: B

° View Text Solution

EXERCISE 16

1. Find the product of following reaction,

OH

/k/ CH;MgBr
- >
Ether

0
(a)
@A

B.CH,

c. =

(0]

A

G S
(d) BrMgO


https://dl.doubtnut.com/l/_aMQqaiEUSjkA
https://dl.doubtnut.com/l/_rTSAQqR7OCce

Answer: C

° Watch Video Solution

EXERCISE 17

DryAg,0O
1.CH3 — CHy — Br —— Product of reaction is:

A.CH; — CH, — OH
B. H.C = CH>

(@)

|
CCH; -C=H

D.CHs — CHs — O — CH> — CHj

Answer: D

° Watch Video Solution

EXERCISE 18


https://dl.doubtnut.com/l/_rTSAQqR7OCce
https://dl.doubtnut.com/l/_bQBaj3FI92F3

1. The product when glyerol reacts PClj is:

A. 1,2,3-trichoropropane

B. glycero monochlorophydrin

C. glycero dichlorohydrin

D. All of these

Answer: A

° Watch Video Solution

EXERCISE 19

KHSO4 LiAlHy
1. Glycerol > A > B

A. Acrolein, Allyl Alcohol

B. glyceryl, sulphate, acrylic acid

C. allyl alcohol, acrolein


https://dl.doubtnut.com/l/_opzIGhDQMQRV
https://dl.doubtnut.com/l/_7zoSgNc6M4GJ

D. only acrolein (B is not formed)

Answer: A

° Watch Video Solution

EXERCISE 20

1. Complete the following reaction

0 MeBr .
H3;C—C—Cl+2 —— 4. 415

it
(a) H3C—C—©

A.
OH

B. Cl —
OH

(© H3C-C,—©


https://dl.doubtnut.com/l/_7zoSgNc6M4GJ
https://dl.doubtnut.com/l/_JSI1AAB7i6sY

OH
(d) H;C—C—H

J

Answer: C

° Watch Video Solution

EXERCISE 21

1. Choose the correct option for the given structure

CH,OH
is changed into

A (z)Cu, 300°C — (’ii)CHgCH2MgBT’, H;0°
B. ('L)C’r'03 — (’i’i)CH3CH2MgB1’, .ZJ3OJr

C. (i) KMnO4 — (ii)CH3CHyMgBr, HsO*


https://dl.doubtnut.com/l/_JSI1AAB7i6sY
https://dl.doubtnut.com/l/_ka0DzTDoF2xO

D. (i) NayCry0;7 + HySO, — (i) CH3CHyMgBr, H;O

Answer: A

° Watch Video Solution

EXERCISE 22

o OH

| |
1. ch —C - CHzCHzCO2CH3 — H3C — CH — CH2CH2CH20H
can be effected using:
A.LiAlH, and thenH "
B. NaBH, and thenH "
C. H, / Pt carbon

D. All of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ka0DzTDoF2xO
https://dl.doubtnut.com/l/_GnWmqPAw7JJl

EXERCISE 23

H;C

LiAIH
><—7CH2 : * 54, Ais:

H,C O

1.

A CH;CHCH,0H

|
CH;

B. CHyC H3CH,CH,OH

C. No reaction

Answer: C

° View Text Solution

EXERCISE 24


https://dl.doubtnut.com/l/_GnWmqPAw7JJl
https://dl.doubtnut.com/l/_Lsd0OR1quAsy
https://dl.doubtnut.com/l/_cakd6ormVTjx

1. Complete the following

SeO, .
@A — A, 418

@ O/\
A.

OH
(b)
B.
OH
() (t[\
C. OH
OH
(d) ©/\
D.
Answer: B

reaction

° Watch Video Solution



https://dl.doubtnut.com/l/_cakd6ormVTjx

EXERCISE 25

@‘ O—@ M, , Predict the correct option :
1.

D. No reaction

Answer: D

o View Text Solution

EXERCISE 26


https://dl.doubtnut.com/l/_QK5cEiozKMHs
https://dl.doubtnut.com/l/_S5hDsg8FkofD

1. An aromatic amine (X) was treated with alcoholic potash and another
compound (Y) when foul smelling gas was formed CgH;NC. The
compound (Y) was formed by reacting a compound (2Z) with Cl; in the
presence of slaked lime. The compound (2) is:

A.CeHsNH,

B.CoH,OH

C.CyH,OH

D. CHCl3

Answer: B

o Watch Video Solution

EXERCISE 27

1. An alcohol (a) on dehydration gives (B), which on ozonolysis gives

acetone and formaldehyde.(B) decolourises alkaline K MnQO, solution but


https://dl.doubtnut.com/l/_S5hDsg8FkofD
https://dl.doubtnut.com/l/_lT1YoipxQHVm

(A) doies not .(A) and (B) are respectively:

A CchHQCHQCHQOH and CHQCHQCH = CH2

B.CH;CH, — CH — CH, and CH, — CH = CH = CH,
|
OH

C. (CH3)3C — OH and (CH3)2C = CH,

D. (CH3)3CHCH2 — OH and (CH3)20 = CH,

Answer: C

° Watch Video Solution

EXERCISE 28

1. Complete the following reaction

OH

Conc, HzSO4 0904
A - X

» Y : Product ‘Y i1s:


https://dl.doubtnut.com/l/_lT1YoipxQHVm
https://dl.doubtnut.com/l/_Vk4XNvKUe4MU

A.
OH
(b) awOH
B.
OH

( C) OH

C.
OH

(d

D. OH
Answer: C

° Watch Video Solution

EXERCISE 29



https://dl.doubtnut.com/l/_Vk4XNvKUe4MU

1. 1f phenol1 magnesium bromide and acetaldehyde are the reactants, the

product formed after hydrolysis would be:

A. benzyl alcohol

B. 1-Phenylethanol

C. 2-Phenylethonal

D. Acetone

Answer: B

° Watch Video Solution

EXERCISE 30

1B
C7H;,0(X) ‘—}:+‘—>C7H12 M) 5o CH0@):
(4 3° alcohol) 2H,0, (An isomer of X )
O
0
Y 3 ) MH
Zn/H)0

0


https://dl.doubtnut.com/l/_TxXfnI64BeEy
https://dl.doubtnut.com/l/_MAFdICTfv5Vj

A.CH3;CH;CH;MgBr and hydrolysis
B. CH30H(BT)CH3 AlCl3
C.(CHs),CHMgBr and acid hydrolysis

Answer: C

° View Text Solution

EXERCISE 31

1. Complete the following reactionle.

CH;

(a) OH


https://dl.doubtnut.com/l/_MAFdICTfv5Vj
https://dl.doubtnut.com/l/_Wc1F4LU9QtUd

CH;

©)
C. OH
CH,
HO CH4
D.
Answer: B

° Watch Video Solution

EXERCISE 32

1. Complete the following reaction

[25)
H:O
A : +> Me—CH—COOH

Me Bis:

MeMgBr (two equiv.) B

(]
H,0

A.MesCHCOMe


https://dl.doubtnut.com/l/_Wc1F4LU9QtUd
https://dl.doubtnut.com/l/_PniGTbYW3JOE

B. MGQCH - CM62
|
OH

C. MeoxCHCOCH Mes

D. Mes C HCHCHMe,
|

OH

Answer: B

° Watch Video Solution

EXERCISE 33

1. Which of the following reactions is possiblw?

A.CeHsOH + HBr — C¢HsBr + H2O

B. (CH3),CCl + NaOCH; — (CH3),COCH; + NaCl
C' (C))\/\*-CH-,ONaﬂ)j:/\C‘

(i) CeHgMgBr

(d) (; ——% > CgHsCH,C(CHy)y
(i) H,0 |
D.

OH

Answer: D


https://dl.doubtnut.com/l/_PniGTbYW3JOE
https://dl.doubtnut.com/l/_ljtBhAbV8rse

° View Text Solution

EXERCISE 34

CH; CH;
| X |
H;C—- C —CH=CHy, — H3;C - C —CHO0O= — CHjs. Xcanbe
| | |
CH; CH; OH

A BH; /THF, HyO, /OH ~
B. H;O™
C.Hg(OAc),/NaBH,, NaOH

D. All of these

Answer: C

° Watch Video Solution

EXERCISE 35


https://dl.doubtnut.com/l/_ljtBhAbV8rse
https://dl.doubtnut.com/l/_NFgyZr0xODwQ

1. Complete the following reaction

% amo
H:C"CH cC—Cl > A, A :
a

A. CClgC]H — CHyCI1

OH
B. CC’lgC’|H — CH,OH
cl
C. OClgC|H — CH)CI
c
D. CClgC]H - C’|H2
OH OH

Answer: B

° Watch Video Solution

EXERCISE 36



https://dl.doubtnut.com/l/_5ntx37b48l86

NaBD
1.CH;CH = CH, ——""5 Product X, X is:
Hy0,/OH

A.CH; C HCH,D

!
OH

B. CH, ‘CHCHZOH

D

C.CH; C HCH;

|
oD

D. None is correct

Answer: B

° Watch Video Solution

EXERCISE 37

1. Identify end product AB and C of the following:

A.CH3;CHCHjsin all cases

\
OH

B. CH;CH(OH)CH,D, CH;CH(OD)CH;CH(OD)CH,D


https://dl.doubtnut.com/l/_hJOBTaFl7qDO
https://dl.doubtnut.com/l/_YZ47rwqBKVyE

C.CH3CHCHjin all cases
|
OD

D.CH3 C HCH3Din all cases
|

OH

Answer: B

° Watch Video Solution

EXERCISE 38

1. Complete the following reaction

BH, THF HL0,/OH"
CHCOOH o

.|

A. (RCH,CH,),, ROH,CH,OH, RCH,CHz, HI

+

o

1+

RCH_CHI

B.(RCH,CH,),, R CHCH;, RCH,CHj, HI

\
OH


https://dl.doubtnut.com/l/_YZ47rwqBKVyE
https://dl.doubtnut.com/l/_6T90QX7tXPTU

C.(RCH,CHs),, ‘RCH — CH,CHs, RCH,CH,, HI
OH

D. None is correct

Answer: A

° Watch Video Solution

EXERCISE 39

CHj CHjy
| |
1.H;C — C —CH =CH, - H3;C — C — CH — CHj. This change
| | |
CH; CH; OH

can be done by.

A. acid catalysed hydration

B. oxymercuation-demercuation

C. hyrdroboration-oxidation

D. any method mentioned above


https://dl.doubtnut.com/l/_6T90QX7tXPTU
https://dl.doubtnut.com/l/_XUf9JKWeekbP

Answer: B

° Watch Video Solution

EXERCISE 40

alc. | KOH HBr//peroxid CH3Na
1.CH;CHCH; y A T g T o

|
Br

In the above reaction sequence, the final product is:

A. diethyl ether

B. 1-methoxypropane

C. isopropyl alcohol

D. propylene glycol

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_XUf9JKWeekbP
https://dl.doubtnut.com/l/_Lgb1CANsG8hJ

EXERCISE 41

1. Sodium teritary butoxide forms ether only with:

@ O—X

B.CH; — X

A.

CH
|
C. HyC — CH — CHj
X

|
D. HsC — C|H — CHs

CH,

Answer: B

o Watch Video Solution

EXERCISE 42


https://dl.doubtnut.com/l/_9CE6FBx6IqKG

1.In the give reaction

H;C . v .
c=cn—ciy = }I:f;)}'; O X,
H;C
OMe
A H;C — |C’ — CH, — CH;4
o,
OMe
B.H;C — C — C’|I{2 — CH;
o,
C.H;C—- C —CHy, - CH;
o,
D. H3;C — OH — CH, — CH;4
o,
Answer: A

o Watch Video Solution

EXERCISE 43


https://dl.doubtnut.com/l/_S6Htw2AydFOj

>C—CH2——CH3 A C—CH—CHj
l H.C
H-C 3
H,C
C—?H—CH3
H;C OH

A LiAlH, and NaBH,
C.LiAlH, and LiAl%lClg,

D. H, / Ni and H, /Pt

Answer: C

° View Text Solution

EXERCISE 44



https://dl.doubtnut.com/l/_WTR7uQPaTNSY

1. Complete the following reaction

+ HI —— Product,

Answer: B

° Watch Video Solution

EXERCISE 45


https://dl.doubtnut.com/l/_fzZ8v3qbDDRk

1. Complete the following reaction

+HI — (0)
O

(l:H — (I:H 2
® OH I

A.
CH, —CH
m@ 2—CH,
OH

B.
SO RE
| OH

C.

D. None is correct

Answer: A

o Watch Video Solution

EXERCISE 46



https://dl.doubtnut.com/l/_k84BqrGfEhHn

1. Which of the following reactions is possible?

A.CeH5sOH + HBr — CgHsBr + HO

B. (CH,),CCl + NaOCH; — (CH;),COCH; + NaCl

a

i/\ jf/\
( © 7T 04 CHyoNa M, N
.

@ ./ - C(,HsMgBrﬁ——)CSHSCHIC\,(CH,h

D‘ OH

Answer: D

° View Text Solution

EXERCISE 47

1. Complete the following reaction

i) CH,;MgCl
H,C—CH, — ¢,
\/ (11) H,0

O


https://dl.doubtnut.com/l/_GUwdh1eyD14V
https://dl.doubtnut.com/l/_JmHwxgt4yu0Q

A.CH;CH,OH
B. (CH;),CHOH
C.CH;CH,CH,OH

D.HO — CH, — CHy, — CH, — CHy, — OH

Answer: C

° Watch Video Solution

EXERCISE 48

1. What is Z in the following sequence of reactions?

PCl3 ale. KOH (i) Conc. HySO4
> s Y N

4

Z
(14 ) HaOboil

A H,C = CH — CH, — OH
B. CH;CHOHCH,

C.(CH3CH,)COOH


https://dl.doubtnut.com/l/_JmHwxgt4yu0Q
https://dl.doubtnut.com/l/_4jgxWuAXwLNx

D.CH;CH = CH,

Answer: B

° Watch Video Solution

EXERCISE 49

1. Complete the following reaction
(i) CHy=C"
H3;C—CH—CH, ——2— ¢,
3 \O 2 TGy ot Product ?

A HsC — C’|H — CH, - CH = CH, — CHj

OMe
B.H;C — CH — CH, — C = C — CH,
ohte
C.H3C—C|H—C’H2—CEC’—CH3
OH

—CH—CH—C=C—CH
@ He— :


https://dl.doubtnut.com/l/_4jgxWuAXwLNx
https://dl.doubtnut.com/l/_UBY0vVxcuWcf

Answer: B

° Watch Video Solution

EXERCISE 50

1. Which of the following reagents cannot be used for the oxidation of 1°

alcohol aldehyde?

A. PCC

B. Collin's reagent

C. M’I‘LO2

D. MTLOZ

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_UBY0vVxcuWcf
https://dl.doubtnut.com/l/_giyj24AFp4mX

level 2

“-——-

A and B respectively:

OCH,Ph
() 4=B=
C.

OH
CH,Ph

1.

Answer: B

° View Text Solution

level 3



https://dl.doubtnut.com/l/_i0ybatdy12yF

1. When-2-chloroethenol is wanted with dilute NaOH, the major product

formed is:

ACl-CHy —CHy — 0O —-CHy — CH,; — Cl
B.HO — CHy — CHy — CH, — CHy — OH

CHO —-CH, - CH, — OH

@ N\o

Answer: D

° Watch Video Solution

level 4


https://dl.doubtnut.com/l/_4QRXO33MSXzo

1. Ethylene glycol

(H OAOH)

with conc. H, SO, gives mainly:

on heating

A (@ Homo/-\oﬂ

o) o/
© (:j

00

0w

H

D

Answer: C

| o Watch Video Solution


https://dl.doubtnut.com/l/_AjBkuCG3ZdBz

level 5

1. Which of the following reaction would give the best yield of t- butyl

methly ether ?

H,S0,
140°C

B. (CH3)3C — Br + CH30H —
S]
C. (CH3)3C — Br + CH?,ONCL —

SXG)
D. (CH3)3O — CK + CH3B’/' —

Answer: D

° Watch Video Solution

level 6


https://dl.doubtnut.com/l/_AjBkuCG3ZdBz
https://dl.doubtnut.com/l/_b6GCPvL3ylGh

1. Consider the following reactions:
NaOH NaH
C’H3—C’H2ﬂA—>B,B—|—CH2—CH2 - C
\ | H20, | |
Br Br Br Br

The major product formed is:

@ St oH

/\O/_\ON:;

g ®B

c (c) HO/—\O/—\OH

o)

Answer: D

° Watch Video Solution

level 7



https://dl.doubtnut.com/l/_GUst4KkSf5BL

1. In the reaction

H,SO
OH 204
HO A A P

The major product formed is:

(a) HO
A MCHZ

(d) HO. OH

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_pi6TLKFHlIru

level 8

1. The major product formed in the reaction is"

OH

' Na,COs5
( ) + CH;CH I >
Q/OH 3 2 acetone, A

(d) @\C(\)‘i/

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_xTUWGNlU7C5a

level 9

1. Consider the following reaction

Bry / CCl il . KO
H,C = CH — CH,CH, — OH /%4 4 PLKoH

4

25°C
The product B is:
Br

@ Br A~

A OH

®us o7 on

© >

Br

B

C.

(d)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_co1eu8X3ER2j

level 10

1. Find out correct product of reaction:

A(a) N\
B.CH,; + CH,

© No\
C.

D. CH_(3)CH_(2)OH'

Answer: C

° Watch Video Solution

level 11


https://dl.doubtnut.com/l/_RPykD8tntNWF

1. The major product X of the reaction
H,S0,

MWNAVH T X

Y\
A. O
O

(b) l ]

) (©) NAA

@ NAA0
D. NN

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_9b0uoJvKOK28

level 12

1. In the reaction

2

HsC \O/

The product X has the structure”

CH3

|
A HsC — C|7 — CH,OH

OCH;
CH;

|
B. H3C — (|7 — CHy; — OCH;3

OH
CHs

|
C. H3C — (|J’ — CH;3
OCH;

CHs;

|
D.CH3C — C — CHs — OCHj;

Answer: A

H;C
3 >C—-CH CH;0H

° Watch Video Solution



https://dl.doubtnut.com/l/_SAqCVYkvPo5J

level 13

1. Consider the following sequence of reactions
. ccl,
H,C - 'CH—COOCHj3; +Bry —— 4
OH

., _KCO;
A acetone B

OH

o
@ @( N\ COOCH;
/\/COOCH3

A. o
o
v
B. 0" "COOCH,

(@)
@I
C. 0" o
O
) @ k
(0]
D. O

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_SAqCVYkvPo5J
https://dl.doubtnut.com/l/_ciAQ0fy9hkgS

level 14

1. In the reaction:

A
MesC — O — CH,CH; + HI —

1 mole

A.Me3sC — OH + CH3CH>I
B. MesC — I + CH3sCH;OH
C.Me3sC — I + CH3CH,I

D. MesC — OH + CH3CHsOH

Answer: B

° Watch Video Solution

level 15



https://dl.doubtnut.com/l/_ciAQ0fy9hkgS
https://dl.doubtnut.com/l/_df2BfPbkbReH

1. Which of the following ethers ethers is the most unreactive to cleavage
with conc. HBr?

A.Ph — CH, — O — CH;

B.Ph — O — Ph

@ ANA

\
(d) >—0 <
D.

Answer: B

° Watch Video Solution

level 16


https://dl.doubtnut.com/l/_RAENnf5WPohj

OH

H® .
——> Major product
1.

Major Product:
O
A
O
(b)
B.
© @
C. HO
HO
D.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ZJcUG7WT1iB2

level 17

1. The product of the reaction is:

O
l
HS KH_
2. H,0

OH

S
(a)
A.

S 0]
B.

. (© HS o\

OH

(d) HS A
D. OH

Answer: A

[ o~ |


https://dl.doubtnut.com/l/_WiS9CXxwzluy

[ W Watch Video Solution ]

level 18

1. Which of the following reactions will not result in the formatio of

anisole?

(a) @-OH +(CH3),S0, _Nﬂ
A.

(a) @Ol{ + (CH;3),S0, ﬂ)
B.

(c) @—OH + CH;N;—
C.
b (d) @OH + CH;Mgl—>

Answer: D

o Watch Video Solution

level 19


https://dl.doubtnut.com/l/_WiS9CXxwzluy
https://dl.doubtnut.com/l/_aKCoUXTQPrYI

1. Consider the following sequence of reactions

HO\ pH pTsCl | AOK , KOH _
Pyridine _ ACOH ~~ H0,A "
HO, H
R &
A.
H_ OH

%,

(b)

c © N

D.( £ ) — 2 butanol

Answer: A

° Watch Video Solution

level 20



https://dl.doubtnut.com/l/_OJxH6CsCGCE1

1. Complete the following reaction

O
Q -—-4—-—> - ;A1ls

O , O
COOH CH,OH

A. ByHg | H,O
B. LiAIH,

D. P/HI

Answer: A

° Watch Video Solution

level 21


https://dl.doubtnut.com/l/_XQ9WmlXMM72c

1. Complete the following reaction

O
O 4
5 10 Non
OH
O

A. BoHg
B.LiAlH,
C.Sn/HCI

D. NaBH,

Answer: B

° Watch Video Solution

level 22



https://dl.doubtnut.com/l/_ZGg6NCR7vqwo
https://dl.doubtnut.com/l/_P2nI8R6QuwPC

1. Complete the following reaction

KMnO4
OH >?

D. No reaction

Answer: D

° Watch Video Solution

level 23



https://dl.doubtnut.com/l/_P2nI8R6QuwPC

1. The major product formed in the reaction is"

D
HO

O O/\
. (@) @ + CH;CH,OH
(b) Q
B HO o/\

+ N\
c © (ODCHO OH

© )/10/
Ho” HO

Answer: C

D.

° Watch Video Solution

level 24



https://dl.doubtnut.com/l/_tdG8dD0l0etJ

1. Complete the following

COOH 0sO HIO Li A1H4
s i
excess
COOH

o /\
(a; 1O T AT
J S
{
e . 'OH
vioo 7T
(b b /[___ _y
B lOH ()H
HG . OH
() l ]
C OH OH
’/‘ e /\
(d) HO " J CH
N
D OH OH
Answer: A

reaction

° Watch Video Solution



https://dl.doubtnut.com/l/_4H674kJp91I7

level 25

OH

LiAlH,

C‘\ TsCl N
«) Pyn'diuc_’ 4

Product B of the above reaction is:

1.

~ /\\\L

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_4EbiUIDgyDJx

level 26

1. Find out the product when compound reacts with NaBHjy:

O O

H OCHj

@ H "OH

(b) HO/ULOCH 3

B. OH


https://dl.doubtnut.com/l/_4EbiUIDgyDJx
https://dl.doubtnut.com/l/_4omy2BaLT7SY

(c) H OCH,
C. OH
0
(d) Hoﬁocm
D. 0
Answer: B

° Watch Video Solution

level 27

OH

COOH KzCl‘zO‘;A
__IMOOH T a2 W

1.

Find out X:


https://dl.doubtnut.com/l/_4omy2BaLT7SY
https://dl.doubtnut.com/l/_n7jdcaCqrWol

Answer: C

° Watch Video Solution

level 28



https://dl.doubtnut.com/l/_n7jdcaCqrWol

1. Complete

OH

[ /7 |

L___I \o._J

O

O

A.
HO

(b) E%:Oj

B.
O

© Q&
C.
p. O

Answer: A

the following

y®
— Product

reaction

o Watch Video Solution



https://dl.doubtnut.com/l/_3d5TGr6EEV8l

level 29

H;CO_ OCH;

NaBH, ~ (X), Product (X) is :

C
Y4
1 O/ \Cl

X, Product is:

HO OH
A. OH
o) (P
OH
B.


https://dl.doubtnut.com/l/_3d5TGr6EEV8l
https://dl.doubtnut.com/l/_8uHCRAbqrqmC

H3CO. ,OCH;

(©)
C. OH
HO_ ,OCH;,
(d)
D. OH
Answer: C

° Watch Video Solution

level 30

O h) 0] OH

Et O——(I'ZIC-—CH3 R o——|c|~@)\

1.
Which of the following is best set of reagents to performs to the above

conversion?


https://dl.doubtnut.com/l/_8uHCRAbqrqmC
https://dl.doubtnut.com/l/_77sFzQUJLYzl

A LiAlH,

B. NaBH,

C. K2CT‘207

D. None of these

Answer: B

o Watch Video Solution

level 31



https://dl.doubtnut.com/l/_77sFzQUJLYzl

x

CH,—CH,—1

Product of the reaction is:

1.

A Ph— CHy — CHy — SH
B.Ph — CHy — CH, — SH
C.Both of these

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FQatDpgBjKGf

level 32

OH
OH

H _ :
1.
This conversion can be carried out by:
A. H2504 /A, HIO4
B.NalOs, H® /A
C.HIO4, NaBH4

D.H® /De < s, Zn(Hg — HC!)

Answer: C

° Watch Video Solution

level 33



https://dl.doubtnut.com/l/_V17v8Lj5WjJ1
https://dl.doubtnut.com/l/_arGHznDMGFYm

1. Which of the following alcohols will show positive iodoforms test?

OH

. @ pn
B. [,

C.CH; — CH, — OH
- OH
@ A
D.

Answer: C

° Watch Video Solution

level 34


https://dl.doubtnut.com/l/_arGHznDMGFYm

18 H
H HBr)
CCly4
) 1 *Ph

Major product obtained in this reaction is:

A. Ph
18
B. Ph
Br
C. Ph
OH
D. Ph


https://dl.doubtnut.com/l/_08y9l3YVUMRX

Answer: B

° Watch Video Solution

level 35

O COOC;,Hs
LiAlH4
_———-+

1. , Products of

the reaction is:

A. racemic

B. diastereomers

C. meso

D. optically pure

Answer: B

| - 1


https://dl.doubtnut.com/l/_08y9l3YVUMRX
https://dl.doubtnut.com/l/_vLPe415gbhxA

| @ Watch Video Solution I

level 36

1.Reduction of R — CHyOH — RCH3 can be carried out by:

A.LiAlH,
B.Hy — Ni
C.RedP + HI

D. NaBH, /AlCl3

Answer: C

° Watch Video Solution

level 37



https://dl.doubtnut.com/l/_vLPe415gbhxA
https://dl.doubtnut.com/l/_FxNGMaClZ01v

OPh
OPh
HI (excess) S
y OPh

the following is major product?

I
I
(a)
I
A.
OH
OH
(b)
B. OH
o)
C.

D. None of these

, which of

Answer: A


https://dl.doubtnut.com/l/_SLKmFVc6XfNT

° Watch Video Solution

level 38

1. Which of the following ethers will get hydrolysed by H® / H,O?

v@-0

A
Yors.

B.
(c) @~-O—Cszc_(:1~13

C.
0@

D.

Answer: D

° Watch Video Solution

level 39



https://dl.doubtnut.com/l/_SLKmFVc6XfNT
https://dl.doubtnut.com/l/_vZutFPmxFaiK
https://dl.doubtnut.com/l/_imfKfykPQvMl

1. Which of the following alcohols will not react with Cu /A

A CH; — CH, — OH

Ph

|
B. Ph — |C — OH
Ph

CHj;

|
C. H3C — |C — OH

CHj

OH
(d) Ph—CH
\CH,

Answer: B

o Watch Video Solution

level 40


https://dl.doubtnut.com/l/_imfKfykPQvMl



https://dl.doubtnut.com/l/_fcWP31kM2oxy

Answer: A

° Watch Video Solution

level 41

1. Which of the following can give purple colour with neutral FeCl;

OH OH O—CH, OH
COOH
A.ii and iv
B.l and iii
C.ii and iii
D. iii and iv
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_fcWP31kM2oxy
https://dl.doubtnut.com/l/_TgLRuQCgMQPK

level 42

1 The hydrolsed of
H3C H CH3
0~ (O )——1 @‘Noz
H Cl CH3 in aqueous
acetone gives.
H;C H CH;,
K = CH;0— () j| ]| ‘l O)—Nos
H OHCH;
H,C H CH;,
L=H,c0— () % i } Q)
OH H CH;,

Hsc CH3 CH3

M= H”CO—O @_Noz
CH3 OH

A.Kand L

B. Only K


https://dl.doubtnut.com/l/_TgLRuQCgMQPK
https://dl.doubtnut.com/l/_fzCqV0jrBjGU

C.Land M

D.Only M

Answer: A

o View Text Solution

level 43

OH HpSO0s
CH=CH,

1.

identify 'P' in the reaction:


https://dl.doubtnut.com/l/_fzCqV0jrBjGU
https://dl.doubtnut.com/l/_l4vA7uhlldnT

Answer: C

° Watch Video Solution

level 44


https://dl.doubtnut.com/l/_l4vA7uhlldnT

OH

1.

identify 'P' in the reaction:
A
H
o (X
B. H

(c)

C.

CH—CH;

o (T


https://dl.doubtnut.com/l/_GGN7hwNGArda

Answer: C

° Watch Video Solution

level 45

H,S0 0, _ H®H0
@wn,——cn:cuz —P—0 »R+S

1.

identify 'P' in the reaction:

o}
(a) and)k


https://dl.doubtnut.com/l/_GGN7hwNGArda
https://dl.doubtnut.com/l/_FDGnrZgSRYIX

H
@ é and >—OH
D.

Answer: C

o Watch Video Solution

level 46

V4

OH He(OAc), H,0H®

» X X018
J NaBH, ‘

1.

identify 'P' in the reaction:

OH

H
(1)


https://dl.doubtnut.com/l/_FDGnrZgSRYIX
https://dl.doubtnut.com/l/_4vhE5ZBLvQ3E

HO OH

(b)
B.
O
(c)
C.
D.
Answer: D

° Watch Video Solution

level 47


https://dl.doubtnut.com/l/_4vhE5ZBLvQ3E

O

Mg

@D
é + CH;MgBr ——20, p HBr,
1.

identify 'P' in the reaction:

e
5

OH
(b)

(©) OH

ef

Answer: B

A
B.
C.
D.

Ether

HCHO

R~Fmo >

o Watch Video Solution



https://dl.doubtnut.com/l/_sAnnOU1TgzKN

level 48

1. Identify the major product of the following reation:

‘ % " H2$04)
A
OH

(a)



https://dl.doubtnut.com/l/_EjDY2Kctrgzp

(d)

Answer: A

° Watch Video Solution

level 49

1. Find the correct method for the following conversion:

OH Br H
—_

[S)
A H, HBr

B. Conc. H2SOy4, A

C.H®, HBr


https://dl.doubtnut.com/l/_EjDY2Kctrgzp
https://dl.doubtnut.com/l/_FeVt4oBJggp0

D. None of these

Answer: C

° Watch Video Solution

level 50

1. Which combination of reagents will bring about the following

conversion?

O

Br

A. MeMgB’r/H@, H2SO4/A, HB’I”/H202
B. MeMgBr /H®, H,SO4 /A, HBr

C. MeMgBr /H®, HBr /CCly


https://dl.doubtnut.com/l/_FeVt4oBJggp0
https://dl.doubtnut.com/l/_8IuMv3fyQp9z

D. HBr / H,O,, MeMgBr /H®

Answer: A

° Watch Video Solution

level 52

1. Which of the following alcohols will undergo easiest dehgydration?

OH
A O:N
H
()
B Cl
OH
(c)


https://dl.doubtnut.com/l/_8IuMv3fyQp9z
https://dl.doubtnut.com/l/_EzGBDVYmfhjp

(d)
D. MeO

Answer: D

° Watch Video Solution

level 53

1. The reactio of HBr with the followin compound would produce



https://dl.doubtnut.com/l/_EzGBDVYmfhjp
https://dl.doubtnut.com/l/_9R2BQksoIHPW

Br
@ Q O Br
D.

Answer: B

° Watch Video Solution

level 54

1.In the following

Me,C = CH — CHy — CH = CH, + CﬁHg,COgH(].C(lUiV. ) — X, Xis


https://dl.doubtnut.com/l/_9R2BQksoIHPW
https://dl.doubtnut.com/l/_8L7bLEyTMSnJ

0O

Answer: C

° View Text Solution

level 55

1. The most steam volatile species is:

OH
X
NO,
A.
OH
(b)
NO,


https://dl.doubtnut.com/l/_8L7bLEyTMSnJ
https://dl.doubtnut.com/l/_ZFKogr2TxMp0

OH

(c)
C O;N NO,
OH
(d)
O,N NO,
D. NO,
Answer: A

° Watch Video Solution

level 56

1. In the Libermann nitroso reaction, change in the colour of phenol occur

as:

A.Brown or red green red deep blue

B. Red deep blue green

C. Red brown white


https://dl.doubtnut.com/l/_ZFKogr2TxMp0
https://dl.doubtnut.com/l/_XGOkmyJCPkCB

D. White red green

Answer: B

° Watch Video Solution

level 57

1. Which one of the following compounds will be most readily

dehydrated?

A. 2-butanol

B. 1-phenyl-1-propanol

O
(©) )k/\
. OH

O OH

o Lk


https://dl.doubtnut.com/l/_XGOkmyJCPkCB
https://dl.doubtnut.com/l/_wZWUBPNPQAzf

Answer: B

° Watch Video Solution

level 58

1. Compound A, C7HgO, is insoluble in water, dilute HCl, and aquenous

NaHCQOs, it dissolves in dilute NaOH. When A is treated with bromine
water is is converted rapidly into a compound of formula C; H;Obrs. The

structure of A is

OCH;

(a)

OH

) CH;


https://dl.doubtnut.com/l/_wZWUBPNPQAzf
https://dl.doubtnut.com/l/_xIxPC2ul7WxU

OH

(d)

Answer: C

° Watch Video Solution

level 59

1.In the following sequence of reaction

CH,;0H .
@—CH=CH—CH3 + Hg (CH;COO), “N’Q%HT’ X, Xis


https://dl.doubtnut.com/l/_xIxPC2ul7WxU
https://dl.doubtnut.com/l/_XLXh8CbMbM7F

<|)H
(@ @—cr{,—cu—cn,
A.
c‘m
(b) @cu—cm—cm
B.
P
© @—cn—cm—c&
C.
1
) @—cnz—cu—-cu,
D.

Answer: C

° Watch Video Solution

level 60



https://dl.doubtnut.com/l/_XLXh8CbMbM7F

CH;CO3H

(Excess)

, Product of


https://dl.doubtnut.com/l/_HrlDTivEE5ps

(©) 0C>:o
C.

0

(d)
H OH

Answer: B

o View Text Solution

level 61



https://dl.doubtnut.com/l/_HrlDTivEE5ps

1. When is
treated with proton acid, a resonance stablized cation is produced. Which
dience listed below when treated with acid will give the same

carbocation?

OH
A. @ AN

®) //\((/OH
B.

() /\y
OH


https://dl.doubtnut.com/l/_0IcEUi1a3YpE

(d) /NN

Answer: B

° View Text Solution

level 62

1. Which of the following would undergo most rapid hydrolysis with

aqueous to furnish the corresponding hydroxy derivatives?

Cl
NO>

(1)

A NO:


https://dl.doubtnut.com/l/_0IcEUi1a3YpE
https://dl.doubtnut.com/l/_uJYue4qVQpkU

Cl

(b)
NO,
B.
Cl
(c)
NMez
D. o
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_uJYue4qVQpkU

1.

Which of the following is best set of reagents to performs to the above

conversion?

A. ThO2, A

B. H3PO4, A

C.Conc. HySO4, A

D. AlxOs3, A

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_LGmqFNG60J3f

Complete the following reaction

n®n,0

< Product

§
H,4 H
EH;UH
HO  CH,
1]
(e)
H CH,
C.

(@)

A.
(b)

B.


https://dl.doubtnut.com/l/_bfzF79tb5tYf

Answer: B

o Watch Video Solution

o

|| Mg—Hg Conc.H,S0, KMnOy,H®
3.2Ph — C' — CH; - - >
H,O A

The final product is

Ph  Ph

(d) CH3 ——(lj_("__CH 3

OH OH
A.
(b) CHy —C—(C—CH
e
B. O 0O

(¢) Ph—C—C—ph

O O


https://dl.doubtnut.com/l/_bfzF79tb5tYf
https://dl.doubtnut.com/l/_jvAqixOYd0bU

Ph
(¢ CH3~(‘f—ﬁ—cu,

Ph O
D.

Answer: C

° Watch Video Solution

Mg—H Dil . H2SO.
4.2Ph — C — CH; "O‘f’ T Product
H,

[
0

The main product is

(a) Ph—ﬁ——ﬁ—-?h

A O O

(b) cm-ﬁ—(‘:\—cm

B. O O

Ph

© Ph———IC—-—ﬁ—CH3
CH; O

Ph

@) Ph—ﬁ—- ?—cm

O CH,


https://dl.doubtnut.com/l/_jvAqixOYd0bU
https://dl.doubtnut.com/l/_1ctRJz2trlBZ

Answer: C

° Watch Video Solution

CH;,
MesG—Cl - Cly,FeCl;  HBr,A
AlCl, ’

2 A.
5.

The final product A'is:

Hj
(€]
Me;C
A. 1

MesC~ > F ¢l

B.
H
© J@:O
C . Me;C Cl
H;
D. Br Cl
Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_1ctRJz2trlBZ
https://dl.doubtnut.com/l/_RHnypTjPsZkK

H

NaOH

NH;

BI'Z + H20
P or (HOBr) ~
H;C
6.

The product is

(a)
A.
H,N
Hmm
H3C|lllmm
. HO

e
C. (©) PhsP = CHCH,CH; ; ByHs, H;0,, OH

D. (@ Ph;P = CHCH,CH; ; H,SO,4, H,0

Answer: A

7

- Product

o View Text Solution



https://dl.doubtnut.com/l/_LRL46sGcnP1r

7. Which of the following sets of reagents would accomplish the following

conversation
ﬁ e
O‘C-CHs——» O-CH-——CH—CH2CH3
b

A (a) CH3CH,CH,MgBr ; H® / H,0, PCC.CH,Cly
.

B (b) CH3CH,CH, MgBr ; H® /H,0 ; H,S04, A; PCC,CH,Cl,

M
(¢)
MO CH,
C.
(d)
H CH,

D.

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_aishn8kGhB1R
https://dl.doubtnut.com/l/_n1UiBXaVYPmG

8. An organic compound A (Molecular formula CgH1504) on treatment
with Na metal liberates H, gas and on treatment with HIO, gives 2

moles of CH3CHO, HCOOH (1mole) and CO5(1mole). Find the

structure on A.

CH—OH
(!3H—()H
|

(a) (CH2)2
CH—OH

(JTH-[——OH

CH;
CH—OH

CH—OH
(b) (Isz
CH—OH

CH,—OH


https://dl.doubtnut.com/l/_n1UiBXaVYPmG

CH—OH

Answer: D

o Watch Video Solution

9. An organic compound A (Molecular formula Cs H1204)does not change

the colour of acidic dichromate solution. Compound A on treatment with


https://dl.doubtnut.com/l/_n1UiBXaVYPmG
https://dl.doubtnut.com/l/_KpPntHhYmyIK

H,S50, produces alkene, which on oxiative ozonolysis gives a molecule

(CgH1903) which gives positive iodoform test. Find the structure of 'A.

(a) D—*OCHa

H

A

(b)

CH;

(©) & MEiOH
o
d)  Dew,

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_KpPntHhYmyIK

CH;

Br NS
& oH

N S / Conc. HBr

q “yc""c\oﬂ ——ki———-) Product

H;C
CH;CH, \\%\H CH;,

N S Conc. HBr

W ~——— Product
H \\\y OH ks

H;C
10.

-OH group is substituted by -Br. The slowest step is dehydration. Which of
the following is correct comparison of rate constant K1 and K»?

A k1 = ko

B.k1 > ko

C.ki < ko

D. cannot be predict

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_eZLlPWj0q4ec
https://dl.doubtnut.com/l/_BCPkK4FtCGNd

K2Crr0:, : g Al
C4H 0, 2200, 01,40, M CoHl0s—284 44 CHiOH
H¥H,0 H,0
2 .
1%
1. CH;

The molecule A in the sequence reaction is

() ‘j]/\/\on

A 0
H
®) \(\)‘\\\O
B. H
H
(c) \/I\\

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_BCPkK4FtCGNd

H, G

NH- ™~
A —ie 0

12.

The product A and B respectively:

CHy oy H,C% OH
(a) A= HzN’% B= ‘j(
A on N OH
HiC, oH N; ;CH3
(b) A= ( iB= \
B NH, OH

C.
HN_ (CHy N3 (CHj
d) 4= \i B= Y
D OH OH
Answer: C

HN,

- U

o Watch Video Solution



https://dl.doubtnut.com/l/_q0L5LF9gi9QS

Product A and B respectively :

nRerse
A

oaa-()
B

(C)A=Q ;B=Q
C.

“@
D.

Answer: C

| e


https://dl.doubtnut.com/l/_EszIDvgLvbxa

I & Watch Video Solution

14. Complete the following

H /I"IZO

)

f/lH

HO” O

B. (b) CHsCH, — OH

(c) Q
; g

O

O
Q) )/\(
HO

Answer: A

reaction

° Watch Video Solution



https://dl.doubtnut.com/l/_EszIDvgLvbxa
https://dl.doubtnut.com/l/_gvtTcrL0MuzO

15. The releative rate or acid catalyssed dehydration of following alcohols

would be:
CH;
(P) Ph — lC’ — CH — CH3s
o
CHj
(Q) Ph — |C’ — CHy — CHy, — OH
CH;
(R) Ph — — C|H — CH,CHs
o
CH3
Ph — — C‘H — CH,OH
o

AR>P>5>Q

BR>S>P>Q

CP>R>S8>Q

DR>S>Q>P

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gvtTcrL0MuzO
https://dl.doubtnut.com/l/_47Ez3dRSQcXT

16. Which of the following alcohols will show positive iodoforms test?

OH
A.CH; — CH — CH, — NO,
OH OH
B. CH, —ClH—CHZ ¢ _on
OH

|
c.ICH, — CH — CH,CHs

D. None is correct

Answer: C

° Watch Video Solution

17.1n the given reaction

CH,

O( BiHs  TCl  MeycOk® 5
H,0, SOH - ~ B

(4)

The product B is:


https://dl.doubtnut.com/l/_47Ez3dRSQcXT
https://dl.doubtnut.com/l/_SjXt2TnQHLVq
https://dl.doubtnut.com/l/_0m3Gt1m5hup3

A.Ildentical to B

B. Chain isomer of A

C. a positional isomer of ‘A

D. reduced product of A

Answer: C

o Watch Video Solution

[8)

y Product

sOCl, Mg
o Pyridine, A" E©,0
H,OH

The final product is :

18.

5
4

H®



https://dl.doubtnut.com/l/_0m3Gt1m5hup3
https://dl.doubtnut.com/l/_GYg33eazaEFb

(d)i k OH
0

Answer: B

D.

° Watch Video Solution

19.

The final product is :

OH
A.

| OH
B.


https://dl.doubtnut.com/l/_GYg33eazaEFb
https://dl.doubtnut.com/l/_PYR9Yf9Avrow

C.
D. H
Answer: C

° Watch Video Solution

CH,OH
o H®/H,0 _
20.

The final product is :

(a)
OH
A.


https://dl.doubtnut.com/l/_PYR9Yf9Avrow
https://dl.doubtnut.com/l/_ct8o9jzJQIlA

(b)

H

B.

HO
C.

(d)

H
D.
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ct8o9jzJQIlA

21.

The final product is :

0
(a)
H
A.
0 H
of)
B.
OH OH
c.
O
(d)
H
D.

Answer: B

[ =


https://dl.doubtnut.com/l/_4IhZpjKGrO1I

l ) Watch Video Solution

22.

The final product is :

~
w()
A 0
o ()
O
o)
o
b o)*/ﬂ\kou


https://dl.doubtnut.com/l/_4IhZpjKGrO1I
https://dl.doubtnut.com/l/_VmwMTPVWbyK5

Answer: C

° Watch Video Solution

CH==CH,

23.

The final product is :
CH,CH;
® D<OCH CH
A 2 3
() QCHZCH3

B. OCH,CH;

CH,CH;

? CZx
H,CHj

CH,CH,
(d)

OCH,CH,

CH;CH;OH’
H,804



https://dl.doubtnut.com/l/_VmwMTPVWbyK5
https://dl.doubtnut.com/l/_dTxPKoRNzXYP

Answer: A

° Watch Video Solution

AAA

OH

24,

The final product is :

0)
0 XY
J

Bl’2

>
CH;NO,



https://dl.doubtnut.com/l/_dTxPKoRNzXYP
https://dl.doubtnut.com/l/_281r7FALm3Ho

(d)

Answer: A

° Watch Video Solution

OH Conc. H;S04 . (CH4CO)0

KMnOyOH .

f A ’ AICl
HO——)— ~—OH

25.

The final product is :

CH;

(a) O

N COOH

A



https://dl.doubtnut.com/l/_281r7FALm3Ho
https://dl.doubtnut.com/l/_8xmlidRyGii3

COOH

(b)
COOH
B.
COOH
(c)
COCH 3
C.
COCH,
(d)
COCH,4
D.
Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_8xmlidRyGii3

| + CH;CH,OH —<1

O

26.

The final product is :

OCH,CH;

(a)
A. O

CH,;—O—CH,
oY
B. (¢]
o1
O™ NOCH,CH;4

C.
o),
D. 0" “CH,—0—CH,
Answer: C

o Watch Video Solution

27. Which of the following reacts fastest with HBr?


https://dl.doubtnut.com/l/_xxU6M2x1Psgc
https://dl.doubtnut.com/l/_1HeaNqeZwNcI

CH,0OH

_Q_

(a)
A NO,
CH,0OH
B Cl
CH,OH
0
C.
CH,0OH
(d)
OCH;
D.
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_1HeaNqeZwNcI

28.The order of reactivity of the following alcohols towards HCl is :

F/_<OH Ff\(fu j)/H pv Vo

1 2 3 4

Al>2>3>14
B.1>3>2>14
C4>3>2>1

D.4>3>1>2

Answer: C

o Watch Video Solution

29. The order of solubility of

) 0) o)
C/ \CH3 H3C/ \H H5C2/ \H

I Il I

H;

Al>II>1II1


https://dl.doubtnut.com/l/_VjrJniUh9vR1
https://dl.doubtnut.com/l/_ze79HDEp1LgK

B.I <II <III

CII >1III >1

D.II > I > III

Answer: C

° Watch Video Solution

30. Degydration of the following alcohols will be in order:

Oron Oron Do Oy
1 2 3 4

Al<2<3<4
B.4<3<1<2
C4>2>1>3

D.1>3>4>2

Answer: C

f


https://dl.doubtnut.com/l/_ze79HDEp1LgK
https://dl.doubtnut.com/l/_KfU454VMCJpN

| ° Watch Video Solution

31. Which of the following reactions

configuration?

Me

@ H OH

Me

() H OH

C.

Et
Ph
S0Cl,

Na
s

TsCl
_

Me
() H—‘LOH ﬂ,
Et

CH;Br

CHLONG
—

CH;0Na
—_—

KCN

(d H .' OH

D CH;

Answer: A

proceeds

with retention of

° View Text Solution



https://dl.doubtnut.com/l/_KfU454VMCJpN
https://dl.doubtnut.com/l/_dWNxckzw8lRf

32.Find out correct product of reaction:

LI,

HBr
(Excess) ’

B OH Br
Br Br
C.
Br oH
D.
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_AzjX6OdG2lEI

cl < > Br Mg/ether% HCHO s A Als:
HGB
33.

(@ Br-OCH;OH

®) C"QCHon

B.
© H0H2c~<>CH2—0H

C.

(d) 0HC~<>—CH0
D.

Answer: B

° View Text Solution

CrO
cold KMnOﬁ) A 3, B, A and B are :
AcOH

coldKMnQy CrOs
> A > B, A and Bare
AcOH

34,



https://dl.doubtnut.com/l/_lrTN5kOBpXFK
https://dl.doubtnut.com/l/_mGPgLnEdhjdD

(@) (:60}{ s (:\501{

OH (6}

(b) Cﬁox—x , \i\/i

OH (6]

(c) , @OH
OH 0

Answer: A

° Watch Video Solution

35.

(MnO (2)) Product


https://dl.doubtnut.com/l/_mGPgLnEdhjdD
https://dl.doubtnut.com/l/_4DCePHFVKxG6

OH

Me
|
© H | on FCly CHiONa

C. Et

(d) @

Answer: C

o Watch Video Solution

36. Complete the following reaction

OH Conc. H;S0,

A > Major product :



https://dl.doubtnut.com/l/_4DCePHFVKxG6
https://dl.doubtnut.com/l/_cZjmTQJSdYhq

D. None of these

Answer: B

° Watch Video Solution

I, + NaOH ®
2 sA+B P 5c-25D

37.

Identify product D in this reaction


https://dl.doubtnut.com/l/_cZjmTQJSdYhq
https://dl.doubtnut.com/l/_vo3vO7M1lhGq

(2)

(b) OH

C.CHI,

O O

o

Answer: A

D.

° Watch Video Solution

38.In the given reaction

@—o-—-cuzcu, _HH0 (P)

P will be:


https://dl.doubtnut.com/l/_vo3vO7M1lhGq
https://dl.doubtnut.com/l/_ev2bQZ54wzID

w( pon
A
, 0
e
C.

) O-cnr—ou

Answer: B

° View Text Solution

s>
H-O/H
- } ‘X

O O
CH;

39.

X' will be


https://dl.doubtnut.com/l/_ev2bQZ54wzID
https://dl.doubtnut.com/l/_R8YjL3C45nf8

A. Hoo © OH

® m
(0] CH‘ CH3 0

B.
Mc
«© H‘—LOH PCl;_CHiONa,
C. L
D. All of these
Answer: A

o View Text Solution

MnO, CH;CH,OK . .
OH T2, 22, Major product :
CH;CH>OH

o

@ @KOA
A

O

40.

H
(d)


https://dl.doubtnut.com/l/_R8YjL3C45nf8
https://dl.doubtnut.com/l/_bN56tdXxSyFW

C.
N\
O O
(d) H
D.
Answer: B

° View Text Solution

OH
1. Pb (OAc)y
= > (X)
2. OH/H,0
41.
X" will be

0]

A (0]


https://dl.doubtnut.com/l/_bN56tdXxSyFW
https://dl.doubtnut.com/l/_2dclsDm7vh4h

o o
o |l I .
(b) O—C—(CH,);—C—(CH,)¢—COOH

0 o
ll I

C (¢) HO—(CH,);—C— (CHy)—C—OH

o)
Il
D (d) HO—(CH,);-—C—-(CH,)s—CH,OH

Answer: C

° Watch Video Solution

0 0
]
$NH—C—CH;, NH—C—CH;

7N NuNH() (7
s S

The above reaction is known as:

42.

A. Clemmensen reduction

B. Birch reduction

C. MPV reaction

D. Wolff-Kishmer reaction


https://dl.doubtnut.com/l/_2dclsDm7vh4h
https://dl.doubtnut.com/l/_GfCB9un1y9tN

Answer: B

° Watch Video Solution

43. In the following reaction

\Q @
H-O
( "~ Product

The main product is:

N OH
(a) l

A.
OH
~
(b) % |
N N

OH

SN

0

C.


https://dl.doubtnut.com/l/_GfCB9un1y9tN
https://dl.doubtnut.com/l/_OD4T5iWt0IrJ

Answer: B

o Watch Video Solution

V%
H3; Ol

Bl’z, CC14>

44,

The major product obtained in this reaction is:

CH3 CHQ_BI'

(a) C ()

CH3 Br

A

(b) 0


https://dl.doubtnut.com/l/_OD4T5iWt0IrJ
https://dl.doubtnut.com/l/_uWSSIgZVuYBC

Br
C
() Br

CHs Br
/"l\/\/Br
(d)
D. §\~/ OH

C

Answer: A

o Watch Video Solution

45, Complete the following
CH; CH;4
Conc.H,SO
Ph Ph 2
OH OH
O Ph

reaction


https://dl.doubtnut.com/l/_uWSSIgZVuYBC
https://dl.doubtnut.com/l/_kFTXRBzx7EwK

O OH

(b) Ph—g—-(‘?-—x‘,.

I
!
B CH K
O CH;
(© CH;-—C»«{--»-Ph

I

C. Fa

‘ h
@ CH3—~C~-—-\|»~-~Ph

l
OH

Answer: C

° Watch Video Solution

46. Complete the following reaction
(’)H OH

Conc.H;S04

%

N



https://dl.doubtnut.com/l/_kFTXRBzx7EwK
https://dl.doubtnut.com/l/_qo606EwY7HWN

o
O ,
(b) )L%

O

© &
H

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_qo606EwY7HWN

47. Complete the following

OH OH

N 1363
—_

0]
0 X
A.
0
®) &
B.
//
. © \J>‘<
D.
Answer: B

reaction



https://dl.doubtnut.com/l/_JcoEzAXv3VfS

l @ yvatch video >olution

48. Complete the following
OH OH
Ph CH3 -——Lroi——)
H H
OH O
(a) Ph~/———/-L
A H
O
(b) Ph)j\/
B.
(© Ph Y
O
C.
(d) ph%( ;

reaction


https://dl.doubtnut.com/l/_JcoEzAXv3VfS
https://dl.doubtnut.com/l/_6TBTpPik7ANv

Answer: C

° Watch Video Solution

49, Complete the following reaction

A CH;3
CH;
(b) CH;
B O
o X
0]


https://dl.doubtnut.com/l/_6TBTpPik7ANv
https://dl.doubtnut.com/l/_s4YNYVl2GNqu

o X

D.
Answer: B

o Watch Video Solution

50. Complete the following

/\"\__ Conc. H3POy
OH A >

@A

(b) \="

B.

(©) =

reaction


https://dl.doubtnut.com/l/_s4YNYVl2GNqu
https://dl.doubtnut.com/l/_GaizyYXSlo4a

D. None of thses

Answer: C

o Watch Video Solution

51. Complete the following reaction

OH

Conc. HQSO4&
A 7

(a)

(b)


https://dl.doubtnut.com/l/_GaizyYXSlo4a
https://dl.doubtnut.com/l/_5jjbz6lr0LsD

()

C.
(d)
D.
Answer: A

° Watch Video Solution

52. Complete the following reaction
CH,—OH
H®, A
_
HO—CH;, CH,—OH

0 AN

A.


https://dl.doubtnut.com/l/_5jjbz6lr0LsD
https://dl.doubtnut.com/l/_6dNAg2Iqg7e0

(b)

Vi N\
B.
ol
C.
e
D.
Answer: D

° Watch Video Solution

53. Complete the following

OH Conc. H2804 .

A

reaction


https://dl.doubtnut.com/l/_6dNAg2Iqg7e0
https://dl.doubtnut.com/l/_7ZbCYvZz9nMk

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_7ZbCYvZz9nMk

54. Complete the following reaction

O
g Conc. :2304

OH
(a) %
A
OH
(b)
S


https://dl.doubtnut.com/l/_RONXm31YgjGS

OH

OH

(d)

Answer: A

° Watch Video Solution

55. When ethylene glycol is heated with oxalic acid in this presence of

conc. H2 50y, the product formed is:

o O
Nes¢
A 0" ~o


https://dl.doubtnut.com/l/_RONXm31YgjGS
https://dl.doubtnut.com/l/_hqZLBxZWKTvh

®) o. 0O
B. 0" 9 Yo
O
@ )
c O

(¢]

d O
d HO "o

D. 0

Answer: A

o Watch Video Solution

56. An organic compoun having molecular formula C3 HgO does not react
with 2,4-dintrophenol hydrazine and does not react Na metal. The
compound is expected to be:

A.CH;CH,CHO

B.CH3;COCH;

C.CHy,=CH - CH, - OH


https://dl.doubtnut.com/l/_hqZLBxZWKTvh
https://dl.doubtnut.com/l/_HcoWtOB0MklE

D.CH, = CH — O — CHjs

Answer: D

° Watch Video Solution

57. Which of the following statements is correct?

A. Phenol is less acidic than ethanol

B. Phenol is more acidic than ethanol

C. Phenol is more acidic than p-nitrophenol

D. Phenol is more acidic than acetic acid

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_HcoWtOB0MklE
https://dl.doubtnut.com/l/_H48MflpkJega

58. The vapour of an alcohol X are passed over Cy heated at 300°C

whereby an alkene is formed as prduct . The alcohol X is expected to be:

A. @ /\OH

® *OH
©  ALH

c Ph
@ —-ou
D.
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_0wUwcyPa2XUg

_71 # AlLO4
350°C

 OH OH

5

The major product formed in the reaction is:

O
@ AL

Answer: C

y

o Watch Video Solution



https://dl.doubtnut.com/l/_M1xxS6aME0jG
https://dl.doubtnut.com/l/_N70ZFubQGSdM

60.

The major product formed in the reaction is:

A.(CH3),C — Br + (CH3),COK —

H,50,
B. (C’H3)3C — OH —
140°C
AlyO4
C.(CHs3),C — OH —
240°C
D. overset
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_N70ZFubQGSdM

61.

Find out 'A' of the reaction:

HQ  OH

@ 7

CH,—OH

(b)

HQ  CH,OH
iﬁ
C.
2
D. \



https://dl.doubtnut.com/l/_UrtxRGj6IUTl

Answer: C

° Watch Video Solution

62. Identify the major product of the following reation:

OH
/\?/ Ts—Cl KSH |
H //”/D Pyridine
SH
(a) ",
A H D
SH
(b) ,
B. D H
(c) N b
H
C.

D. No reaction

Answer: B

[ e~



https://dl.doubtnut.com/l/_UrtxRGj6IUTl
https://dl.doubtnut.com/l/_V4If4jcLnMRB

l @ Watch Video Solution

63. Find the product of the following reaction with sterechemistry.

Cl
(:-—-(:HHHHH‘(:}{3

,
/,’

}{ (: [ ——
Ty
OH H

NaH

+

H/%, H
(8) H;C = C—C i CHj
A oH H

m, H
(b) HyC b%C_lellHI\l H
B HO CH;

H %’4 \\\\‘\\\\\ CH 3
(©) H,C =C—C==H
N/

C. 0

Ha, /CH,
(d) H,C =’ C—Crun H
N/

D. 0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_V4If4jcLnMRB
https://dl.doubtnut.com/l/_UQZpX2EXCAZ6
https://dl.doubtnut.com/l/_3DMC0aR8E4t7

64. Select the major product of the following reaction:

O

€
—>

@ 0
D CHiCH—OCH, CH,

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_3DMC0aR8E4t7

65. What would be the major product of the following reaction?

@

CH;O
CH,OH ~

H

OH Ph

(a) HiC uH
A. Ph OCH;
CH,4 ", OH
(b) Ph l>/l-:'C—-CnunumH
B. OCH; Ph
Ph
OH
(©) H,¢ u%@m
C‘ Ph OCH3

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_n9IMA0foFTtN

66. Find out the major product of the following reaction:

Ph S
CH;CH,0

>

H
OTs

(a) Q—-Ph
A.

b Ph

(b) N H
B.

(c) Ph

OCH,CH;

D. No reaction

Answer: B

| ° Watch Video Solution


https://dl.doubtnut.com/l/_CNzo0fWEGx8A

CH;

Ye
NHHOH PBr;y = KCN | final product
CH;CH,; “H |

67.

CH;
(a) st H

CH;CH; VCN
A. CH;

CH, CH;
N (b) H>C—C<H

CH;
() anll CN
CH;CH, H

H

(d) )%“” CH;
NC

CH,CH,

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_CNzo0fWEGx8A
https://dl.doubtnut.com/l/_itdblfppBemP

68. What would be the major product of the following reaction?

H,C CH,
CH;  Cone. H;804 R
OH A

HJ 13
CH,

ijﬂ
b, G
écr{
CH; CH3
© ijcnzcm
C.

H, CH

i( CH,

C
(a)
A.
C
(b) 3
B.

C
(d)
D.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_9lkZDvk7lCEq
https://dl.doubtnut.com/l/_iothVQV278uu

CHClI3 + NaOH 4 4 B
(Expected) (Unexpected)
69 OH

The unexpected product B is:

(a)
OH
A CHO
B.
CHCl,

C. 0
O
ol
(d) j@
H_Icl OH

OCH,

D.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_iothVQV278uu
https://dl.doubtnut.com/l/_qKLlHAXlqa1M

70.The final product in the following reaction is :

Br
H 1. Mg, cthcr_}
| 2. H;0%A
O

H;C OH

2 CE

CH;

A
g (9
B

CH,

MgBr
H
(c) O
C. CH;



https://dl.doubtnut.com/l/_qKLlHAXlqa1M

(d)

CH,

Answer: A

° View Text Solution

71. How many structure of final products are possible?

< Conc. H,SO Bry,/CCl
/' Onc: 722 > 2 2 - C4HgBn,
OH A

Conc.H,S0, Bry/CCl,
> > C4H337’2

A

A2

B.5

C.6

D.3


https://dl.doubtnut.com/l/_qKLlHAXlqa1M
https://dl.doubtnut.com/l/_2vOpbwAqtoMk

Answer: B

° Watch Video Solution

72.Chosse the correct statements regarding the following reaction:

A. Syn addition of -H (from BH3) and -OH (from solution) occur.

B. Syn addition of -H (from BH3) and -OH (from H>0>) occur.

C. The product is optically active.

D. Addition follows anti Markownikoff orientation

Answer: A::C

° Watch Video Solution



https://dl.doubtnut.com/l/_2vOpbwAqtoMk
https://dl.doubtnut.com/l/_EcCe7UG8ZEM9
https://dl.doubtnut.com/l/_L4ot8eRtH6nz

| HB
OH —— Product

73.
Which of the following are possible are possible products in significant

amounts?

B.
© | | Br
C )
CHQ-‘BI'
d b=
D.

Answer: B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_L4ot8eRtH6nz

—'—_)H3C/

H OH H

74.
Which of the following represent conditions to perfoem given

conversation?

A. POCl3, pyridine

B. Na — metal, C'Ssheat

HsC—@——SOZCI
C. —

D. CF3S50,Cl, pryidine, MesCO®P K ®

Answer: B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_2sKjqwOlkZ4o

75. Which of the following alcohols do not give white turbidity on

treatment HCl/ ZnCly?

A CH,CH,OH

(ME>~wrm1
B.

CN=C- C|H — OH
CH,
CH;

l
D.CH; — C]H — OH

CH,

Answer: A::C

° Watch Video Solution

76. Which of the followin wil give iodoform?

A.CHsCH,OH
OH

I
B.CH3; — CH — Ph


https://dl.doubtnut.com/l/_35UPfPQ6UnST
https://dl.doubtnut.com/l/_0jjBr9P2wPvr

e
c OH

OH

(d)
D. OH

Answer: A::B::D

° Watch Video Solution

77. which of the following ethers will get hydrolysed by HI?

w (o)
A.

NaSs
B.

Nat¥e
C. .
D. @ @o—@—o—cn,


https://dl.doubtnut.com/l/_0jjBr9P2wPvr
https://dl.doubtnut.com/l/_eS4WTX325vka

Answer: C::D

° Watch Video Solution

78. Which of the following reactions are correctly matched?

CH;,
| HI
ACH3 — CH - 0 — CH3 — SN]-
|
CH3
H® | H,0
5.CH; ~ CH ~ 0 ~ CHy —— Sy1
CHs
HI
C.CHs —CH — O - CHs — Sn2
|
CH3

D.CHs — O — CHy -2 Sn1

Answer: A::B::C

° Watch Video Solution

79. Which of the following compounds will give positive Victor Meyer

test?


https://dl.doubtnut.com/l/_eS4WTX325vka
https://dl.doubtnut.com/l/_HZf0WGUvRNQ9
https://dl.doubtnut.com/l/_jQ9O6rWYCLyp

A CH;CH,OH

CH,
B.CH; — o _oH
ot
C.CH;CH, — I
CH;

|
D.CH; — C — NO,

Answer: A::C::D

o Watch Video Solution

80. Which of the followin alcohols undergo rearrangement during

degydration reaction?

CH,
(8) CH;—C—CH—CH]
A. CH; OH

B. e

C.le2


https://dl.doubtnut.com/l/_jQ9O6rWYCLyp
https://dl.doubtnut.com/l/_9ncCXdYkuU7K

CH;

(d) Ph—CH—CH—CH;

D OH

Answer: A::B::D

o Watch Video Solution

81. 02H5002H5 and

can be
distnguished by:
A aq.FeCls

B. Na metal

C.Tollen's reagent

D. KoCro0O7


https://dl.doubtnut.com/l/_9ncCXdYkuU7K
https://dl.doubtnut.com/l/_VmrD7DTxkcBA

Answer: B::D

° Watch Video Solution

82. The ether

when treated with HI produces:

O
A.

Answer: B::D



https://dl.doubtnut.com/l/_VmrD7DTxkcBA
https://dl.doubtnut.com/l/_cXvUBmrwVwg7

| ° Watch Video Solution

8. Which of the following reactions will give ether as main product?

O ™ 2=
—_—
A C,HsBr

N
B. MesC — OH ——
06H5B7‘

Na

C.Me;C —OH ———
CH3CH2CH2.BT’

Na
D. C.chHQCHQOH S
MesC— Br

Answer: A::D

o Watch Video Solution

84. C5H; Br can be converted into CoHy — O — CyHj by:

A.reacting by CoH;ONa

B. heating with moist Ag,O

C. heating with dry Ag,O


https://dl.doubtnut.com/l/_cXvUBmrwVwg7
https://dl.doubtnut.com/l/_Hh8yzU8T2EyK
https://dl.doubtnut.com/l/_0ABnw7Uo4eNu

D. treating with Co H; M gBr

Answer: A::C

° Watch Video Solution

85.1°,2° and 3° alcohols can be distinguished by:

A.Cu /573K
B. Victor Meyer test
C.ZnCly /HCI

D. BT’Q + H20

Answer: A::B::C

o Watch Video Solution

86. Alcohols can be replaced by-Cl group by the followin reagents:


https://dl.doubtnut.com/l/_0ABnw7Uo4eNu
https://dl.doubtnut.com/l/_6ATCRgJp9Bbn
https://dl.doubtnut.com/l/_l4get8RPZvO0

A. Cl,

B. SOCI,

C. PCl;

D. HCI + ZnCl,

Answer: B::C::D

o Watch Video Solution

87. Glycerol can be converted to acrolein by dehydration in presence of

A.Conc. HySO,

B.KHSO,

C.CaCl,

D. Anhyd. ZnCl,

Answer: A::B

° Watch Video Solution



https://dl.doubtnut.com/l/_l4get8RPZvO0
https://dl.doubtnut.com/l/_XDnsFfcywYl4

88. CH3CH,; — OH can be converted to CH3CH,CN by the following

reaction:

A CHy;CH,OH + KCN -~

8. CH,CH,OH + HCN —~

TsCl KCI

SOCly, KCN
D.CH;CH,OH + HCN === ==

Answer: C::D

o Watch Video Solution

89. Which of the following will oxidise to salt of acid by Bry + KOH?
A.CH; — CH, — OH

X
CH;

B.


https://dl.doubtnut.com/l/_XDnsFfcywYl4
https://dl.doubtnut.com/l/_xgdmAHQ7o23v
https://dl.doubtnut.com/l/_9nfgTGIKZFah

(d) D-CHzOH
C.

D. .

Answer: A::B

° Watch Video Solution

H/™/\
4 T xa NaBr

1 —> N
o H;C OH Pyridine A ~B

9

H
(@) Ais ><><H
A H;C OTs


https://dl.doubtnut.com/l/_9nfgTGIKZFah
https://dl.doubtnut.com/l/_SXqVZzI10Ce9

Answer: A::B

° Watch Video Solution

Conc. }'13304 O; %H
A PA—— B 5 C

Lo


https://dl.doubtnut.com/l/_SXqVZzI10Ce9
https://dl.doubtnut.com/l/_najoW2pxM3PJ

Answer: A::B::C

o Watch Video Solution

CHy O

|

CHy—CH—C—H

PBI'3 Mg
OH >4 ——8B
Et-O

92.

(a) Ais <>—Br
A
(b) Bi5<>*MgBr
B.
?H CH
. s
c “H—
1s<>—(,H CH
C.

|
Cis &CHZ-C~CH;
|

D. OH

CH;

H®'H,0

—



https://dl.doubtnut.com/l/_najoW2pxM3PJ
https://dl.doubtnut.com/l/_eLEGNDGKUpmI

Answer: A::B::C

° Watch Video Solution

OH
COHC. HzSO.:,x

A+ B
OH

93.

A is


https://dl.doubtnut.com/l/_eLEGNDGKUpmI
https://dl.doubtnut.com/l/_pEccLWWOYMKV

Answer: B::C::D

° Watch Video Solution

OH

CH;MgBr H,SO B,Hg
94 dil. acetone H®/H,0 A 2073



https://dl.doubtnut.com/l/_pEccLWWOYMKV
https://dl.doubtnut.com/l/_WrWtJlufyt5T

OH

(b) Bis é
B.
OH
(©) Cis é
[l

S s/
D isL Y
OH
D.

Answer: C::D

° Watch Video Solution

OH

Me
H,SO :
MC 204 4 L1A1H4

OH
95.

Me
(‘) o isl/\,<Mc
\A

A O


https://dl.doubtnut.com/l/_WrWtJlufyt5T
https://dl.doubtnut.com/l/_cp98jMrhcbAx

A Me
(b) 4 is| /
\/\
B OH
Me
Lo
C OH
M
@ gis” T
kw’\
|  OH
Me
D.
Answer: A::C

° Watch Video Solution

Conc. HI Mg, ether
O > A B
(Excess) CO,,H¥/H,0
“oH KMnO,

S

96. ? >

[

(a) 4 isC
|

A.


https://dl.doubtnut.com/l/_cp98jMrhcbAx
https://dl.doubtnut.com/l/_qrJ6ra0dKXOd

w)Bsf/\CO”{

B. ~_-COOH

~">OH
(c) Cis|

~~OH

COOH
-~

|
S COOH

D 1s

Answer: A::B::C::D

° Watch Video Solution

e
CH3;—C=C CH;l H,.Pd-B
N N 2 = aSO4
\o/ — 4 —>53 2 e

4 iseo>— CH,—C=C—CH,

97.

A

Bis >_—CH2—CEC—CH3
OCH;
B.
CH;
c
Cis HyCO H>C=C<CH3
H H

C.


https://dl.doubtnut.com/l/_qrJ6ra0dKXOd
https://dl.doubtnut.com/l/_rbPVE1YPWvsU

Ci _ . CHy
is H;CO—CH>C~C <

Answer: A::B::C

o Watch Video Solution

HCl NaHCO;
3 B > C

Mn02\

H,0
98. 2



https://dl.doubtnut.com/l/_rbPVE1YPWvsU
https://dl.doubtnut.com/l/_dd5soFgTDDqH

A |

Bis

HO

d) Cis

Answer: A::C::D

° Watch Video Solution

Na/ether

PCl \w/
CsH,,0 >
(4) ether c Naether
_—
[ >_<
i,alc. KOH
Fe—-«¢ =D =
H,0 S
- H 202 /OH

99.


https://dl.doubtnut.com/l/_dd5soFgTDDqH
https://dl.doubtnut.com/l/_6zRsF013cki6

A. DsiCH (3)-CH=CH (2)'

B.Eis CH2 — CH2 — CH2 — OH

C. FisCH _(3)underset(OH)underset(|)(CH)-CH _(3)'

D.Bis CHgCHQCI

Answer: AB,C,D

o View Text Solution

1. Mg Br KOH lc. KOH
HyC=CH—CH,Br ——%— 4—2,p8 c 0T
2. HCHO 0

3.HPo
100.

A. A’LSHQC = CH — CH20H2OH

Br
|
B. BisCHy — C]H — CH>, — CHy — OH
Br
(c) Cis /O
C. Br® O

Br
C1s @
O

D.


https://dl.doubtnut.com/l/_6zRsF013cki6
https://dl.doubtnut.com/l/_vBjY9pcSKVii

Answer: AB,D

o Watch Video Solution

CH;—(CH,)y—CH,MgBr

(i) 4
(ii) H30

B
K2Cr20—;

CH;—(CH)—C=CH—D, 7 % __ (5
Me2S

Q)7 o
V(n) HO |0k .
(H) OH |(ii)H50

ANA ou

Ph

101. "

0

(a) Zis/\/\)k

A
B.J is PhMgBr

C.CisHg*" / HSOy4


https://dl.doubtnut.com/l/_vBjY9pcSKVii
https://dl.doubtnut.com/l/_jFIco4RyLM8F

MgBr

(d) Kis

Answer: AB,C,.D

o View Text Solution

102. Compound A is an optically active alcohol. Treatment with oxidising
agent converts it to a ketone B. In a separate reaction A is treatment with

PBrj, converting it into C. C on reaction with Mg is added to B to yield

OMgBr

. Identify the

correct option.


https://dl.doubtnut.com/l/_jFIco4RyLM8F
https://dl.doubtnut.com/l/_0IPd4cXQx9hx

A. Ais 2-butanol.

B. Ais 1-butanol

C.Cis 2-bromobutane

D. Cis 1-bromobutane

Answer: A,C

o View Text Solution

103. Alcohol A (C9H130) is converted into mixture of alkene B and C on
heating with conc. H3 PO,. Catalytic hydrogenation of B and C yields the
same product. Assuming that dehydration of alcohol A proceed without
rearrangement. Alkene B on ozonolysis form cyclopentanone. Identify the

correct options.

(@) 4 iSM
A. / H

(b) Bis[:>:<:|
B.


https://dl.doubtnut.com/l/_0IPd4cXQx9hx
https://dl.doubtnut.com/l/_3mEkFxXwiGWp

C isD—@

C.
(d) Cis Mj’
D. |

Answer: AB,D

o View Text Solution

104. A compound X' (C14H140) on mild oxidation yields C14H12(Y). If X
is treated with a dehydratingg agent, it loses a molecule of H»O and
resulting product on vigoporus oxidation yields two molecule of benzoic

acid. Identify the structure of X and Y.

b
[EURWN '—\)\\CH:—CH‘

A HO

—Ph

OH

|
B.Xis Ph — CH — CH, — Ph

o

I
C.yis Ph — C — CH, _ Ph

|8

D. le.


https://dl.doubtnut.com/l/_3mEkFxXwiGWp
https://dl.doubtnut.com/l/_D82yjt7L2tcs

Answer: B,C,D

o View Text Solution

105. Compounds A, B and C are isomeric alcohols with formula Cs H15,0. A
on oxidation given ketone, B gives acid while C is not oxidised, A gives
test with I, / NaOH. The three isomerice alcohols react with HBr with

decreasing rates C > A > B.Identify A and B.

OH

is % )
CH;

A. -

A 1S —*“\
. OH

(©) Bjs OH
. >/\/

N,

B s
D. Ol

Answer: A,C


https://dl.doubtnut.com/l/_D82yjt7L2tcs
https://dl.doubtnut.com/l/_Kp4zlzo6caTh

o View Text Solution

106. An optically active alcohol A (cgH160) on oxidation gives B. A on
heating gives C(C3Hi4) as major product. C on ozonlysis produces

D(C5HgO) and CH3 — C — CHj. D on reduction with LiAlH, gave

j
0

OH

Identify

correct answers.


https://dl.doubtnut.com/l/_Kp4zlzo6caTh
https://dl.doubtnut.com/l/_lQ15V0vVoKl0

D s
A.

. CHy
A |

B is{ \>—J{—m(m
/

B. H

— CH;,

A s LH—('H:()H

C. H

Cis

Answer: AB,C,.D

o View Text Solution

107. Compound A (C7H14) decolouries Bry in CCly and reacts with
Hg(Oac), followed by ruduction with NaBHj, to produce a resolvable

compound B. A undergoes  redutive  ozonolysis to  give


https://dl.doubtnut.com/l/_lQ15V0vVoKl0
https://dl.doubtnut.com/l/_A0WL7JT4SLmC

compound

(a) 4 is \/\[(\
A.

g W P N

(C) Bis T TNUETS

Answer: A,C

as one of the

o View Text Solution



https://dl.doubtnut.com/l/_A0WL7JT4SLmC

108. A 3° optically active alcohol CyH130 'A on dehydration with conc.
H,50, produces B(CyHyg) which exists in two stereoisomeric forms.
For ozonolysis of B followed by work up with Zn — H,O produces

CH; — C — H and C(C;H50. C on treatment with LiAlH, produces
[
0

D(C7H140). D on hehydration produced
“
s )

™
/
/
e

Identify the correct the correct answers.

CH;

I
A @48 (\/L(*H—c‘uf—(‘ufon


https://dl.doubtnut.com/l/_7MXuuXsof9zZ

(d D is(/>—€'n‘c H,
D. v

Answer: B::D

o View Text Solution

109. A (C5H120) produces, on reaction PCl5 from alkyl chloride B and C.
B and C both on reaction with aqueous KOH form alcohol D and E . Both D
and E give iodoform test. Identify the correct answers.

CH;

4 1s CH;CH:—0O—CH
A ) ' ) \CH;
CisCHy— CH—Cl4

B. 1

C.Cis CH30H2CH2CI


https://dl.doubtnut.com/l/_7MXuuXsof9zZ
https://dl.doubtnut.com/l/_8Ptg3Z3HL7iE

EisCH; —(“H»——-(‘H 2

OH

Answer: A::B::D

o View Text Solution

OH Conc. H>S0y _
/f\\l/k A >: Products can be :
110.

can be

, Product


https://dl.doubtnut.com/l/_8Ptg3Z3HL7iE
https://dl.doubtnut.com/l/_xgnwvTCqyRk3

Answer: A::B

° Watch Video Solution

111. Among of the following gemdiols which are stable with respect to

corresponding carbonyls:

OH
|
A CI3C|C — H
OH
OH
F:(."'L“(_‘F"
B OH
)
Ry OH
L X,
i
C. O
OH
(d)
5 H

Answer: A::B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_xgnwvTCqyRk3
https://dl.doubtnut.com/l/_ieLGSgL6wRm0

112. Which of the following reactions are correct

LiAIH,
D.CH3 —C =N —— CH3CHy;NH,

Answer: A::C::D

o Watch Video Solution

113. Which of the following alcohols will give same alkene on reaction with

conc.


https://dl.doubtnut.com/l/_ieLGSgL6wRm0
https://dl.doubtnut.com/l/_j4W4sHHKXPuq
https://dl.doubtnut.com/l/_Jh3DDEfVbaNi

(f/\'\K OH
A

-

o
A

OH
N

B.
C.

Answer: A::B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_Jh3DDEfVbaNi

114. Which of the following reactions would produce same product?

()H

l :
Ry LN

N
\‘v:/ HOHO

~

A.
OH
e CO, + NaOH
O)—s
H /Hgo
B.
OH
H CHCl, ¢ N:\()l{
C. l\ n¥ H.0
OH
HCN + ZnCl,
5 19,0
Answer: A::B

o Watch Video Solution

115. Which of the following compound are oxidised by HIO4?


https://dl.doubtnut.com/l/_qtiwMFrjf6y8
https://dl.doubtnut.com/l/_Zzj7WMJ4AXM8

CH>—OH

A.

(b CH, -OH

I
; CH,—OH
© B\
|
CH—OH
c CH,—OH

(d) c‘:nzmon
CH,—NH,

Answer: B::C::D

o View Text Solution

116. Which of the following esterification reactions are unimolecular?


https://dl.doubtnut.com/l/_Zzj7WMJ4AXM8
https://dl.doubtnut.com/l/_WfL42nUI15xh

O

I H® H,0
A. @ CH;—C—OH+CH;0H ———

C.

@ =
D.

Answer: B::C::D

o View Text Solution

117. Which of the following reaction involve rearrangement?

O

e
Ph CH;0
N/ \ RN

H,C

Ph
(b) OJW_A_)
B. @

A


https://dl.doubtnut.com/l/_WfL42nUI15xh
https://dl.doubtnut.com/l/_MViqI4Er0hJT

OH

(c) Conc. H,SO;
) s
A

I
0—C—Ph

(d)
[5 AICh
A
D.

C

Answer: B::C::D

o Watch Video Solution

118. Which of the following paris can be distinguished by using Lucas

reagent?
¢ N —CH,—OH. CH,CH-OH

A =

& \’i:f}—cuz—on. Qvg(,h
4 —OH.
c 9 Nou

Answer: A::B::C

s l


https://dl.doubtnut.com/l/_MViqI4Er0hJT
https://dl.doubtnut.com/l/_0zqE6wITh083

L = vvatlln viaco >0Iution

119. Which of the following compounds are soluble in Na HCO3?

OH
(a) NO,
AN
I —Z
A NO;
SO;H
(b) [
B.
QH
NO-

C.
COOH
& | NO-
=
D.

Answer: A::B::D

[ o


https://dl.doubtnut.com/l/_0zqE6wITh083
https://dl.doubtnut.com/l/_ZJqwTHAxDi35

l & Watch Video Solution J

120. Which of the following reactions are correctly interpreted?

I5C1 KSH
A. @) DO —ts == Sl

HeOAe): | oH
B A AN
B x N oo, N

CHe, 0 CH,
| . il
@ Phd oy Ao, L
|
C OHCI Ph

() <@ CHy- ouﬂ‘—n_/ \/>—C“3

D.

Answer: A::C::D

° View Text Solution

121. Which of the following reagents can be used for identification of

phenol?

A. NeutralFeCl;

B.NaNO, + HCI


https://dl.doubtnut.com/l/_ZJqwTHAxDi35
https://dl.doubtnut.com/l/_N8zMzRdLZYPP
https://dl.doubtnut.com/l/_23oHSY1Pqsa1

C.(NHy),[Ce(NOs)g]

D. ZnCl, | HCI

Answer: A::B::C

° Watch Video Solution

122. Althought epoxides do not contain a good leaving group, they
contains a strained three membered ring with polar bonds. Nucleophilic
attack opens the strained three membered ring making it favorable

process even with the poor leaving group.

4
5.-\/( )\ - //////”/ «——leaving group
o e Gy ; |:=7"C——C“'”"““
4 ‘ N
/ - N Nu
Nu

This reaction occurs readily with strong nucleophilic , and with acids like

HZ, where Z is nucleophilic atom.

Reaction with H. O H

H

CN/HO H
strong >L§< _CNiH,® §__(()n%ﬁ
nucleophile H H CN \"H 1
H Nucleophile
opens the
3-membered ring

|

H
. - H H .
Reaction with O, HC H\ OH
HZ : : . N~
H H Cl \VH
H



https://dl.doubtnut.com/l/_23oHSY1Pqsa1
https://dl.doubtnut.com/l/_6MJrTBd5R16J

Find out the correct product of the reaction

CH;

T

O 1 a0

2. H-0

b
7

nnm:
\ T

/un

ey
e
[

|
C
o

|
/\bchs


https://dl.doubtnut.com/l/_6MJrTBd5R16J

Answer: B

o Watch Video Solution

123. Althought epoxides do not contain a good leaving group, they
contains a strained three membered ring with polar bonds. Nucleophilic
attack opens the strained three membered ring making it favorable

process even with the poor leaving group.

"8 Oee—leaving group
AR “my,
pttan (e Ml ey e (C HHHY
- \ /
‘s Nu
Nu

This reaction occurs readily with strong nucleophilic , and with acids like

HZ, where Z is nucleophilic atom.

: . - H
Reactionwith H. O H 9.
CN/H,O  H.
g SN 0, W, o
H CN R

c hile N H
nucleophile H H Nucleophile
u opens the
Reuction with H o H el e oH 3~mer?1hercd ring
HZ > ’ D

H Cl \H
i


https://dl.doubtnut.com/l/_6MJrTBd5R16J
https://dl.doubtnut.com/l/_DiUf8EOOu2CP

O "
>/ N\ HCL

What would be the major product of reaction?

A OH

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_DiUf8EOOu2CP

124. Althought epoxides do not contain a good leaving group, they
contains a strained three membered ring with polar bonds. Nucleophilic
attack opens the strained three membered ring making it favorable

process even with the poor leaving group.

>, |
O «——leaving grou
o/ b “, © U
—<( ol N — S Cmititly
,//4 N\
v Nu
Nu

This reaction occurs readily with strong nucleophilic , and with acids like

HZ, where Z is nucleophilic atom.

[P S 1 i i
Reactionwith H. O H CNH, O H

N\ Ol
strong >LL< E— >——( i e——»‘“w

cleophile } CN N
nueleopn " " 1 Nucleophile
opens the
Reaction with H_ o H HCl H H\ Ol 3-membered nng
eac N i !
7 X —— N |
" H H o Nl
H
Ph

,/()\ﬂ L n®
/( H=—=CH—=CH =m0 on
H;C

~
o~

Find out major product of reaction:

Ph_
(a)

C—CH>—Cl,—OlH
HsC -
A.

OCH;


https://dl.doubtnut.com/l/_MRS84fXvLpkA

Ph. O

(b) |

CH—=Cl—(1,
He” -
B )l
Ol
Ph, |
(©) }'w—('ll'—‘(l‘llz

H;3C OCH,

D. None of these

Answer: A

o Watch Video Solution

125.1,2-diols are oxidised to ketones or aldehydes by periodic acid HIO;,.
Periodic acid reacts with dipol to form a cyclic intermeditate. The reaction
takes places because iodine is in a highly positive oxidation state, so it
readily accepts electrons. When the intermeidate breaks down, the bond

between the two carbon bonded to the OH group break.

CH, %r H; H _;L\C-‘O
H;C—C-—CH—CHj; i”(im}c-- /C‘fgli——CHg —_— y
H éH O\ijP HiC /CH3
& No co=C +HIO;



https://dl.doubtnut.com/l/_MRS84fXvLpkA
https://dl.doubtnut.com/l/_I1rARDLqGk1I

H1O,

Br alc. KOH 0sO
O/ hv2 >4 > B : > ¢

Identify D.

Answer: D


https://dl.doubtnut.com/l/_I1rARDLqGk1I

o Watch Video Solution

126. 1,2-diols are oxidised to ketones or aldehydes by periodic acid HIO,.
Periodic acid reacts with dipol to form a cyclic intermeditate. The reaction
takes places because iodine is in a highly positive oxidation state, so it
readily accepts electrons. When the intermeidate breaks down, the bond

between the two carbon bonded to the OH group break.

CH; CH3 H;C
HIO. N ()
H3C—(—CH—CH; ——5H;C-— (' —CH—CH3; ——— =t
OH - (/J vy H C/
o NP ! CHs
I
o//j \\\\o +0=C + H10;
HO N

H

HOH,C
\(f_:___ 5

?HOH
"HOH
H,OH

HIO;

(Excess) '

Which of the following will not form by above reaction?



https://dl.doubtnut.com/l/_I1rARDLqGk1I
https://dl.doubtnut.com/l/_DfBrdkMfOYUO

AH-C-H
B.CH;OH
C.CO,
10)
I
D.H—-C - OH
Answer: B

° Watch Video Solution

127.1,2-diols are oxidised to ketones or aldehydes by periodic acid HIO,.
Periodic acid reacts with dipol to form a cyclic intermeditate. The reaction
takes places because iodine is in a highly positive oxidation state, so it
readily accepts electrons. When the intermeidate breaks down, the bond

between the two carbon bonded to the OH group break.

CH; CH; Hl(—\c_:—()
HJ('—?--#?,‘H—CH_‘ O o— /(‘—Q—'QH——CH 3 > %
OH OH Q%P H;C crs
0//,1\\0 v0=C_ + HIO3
HO H

Which of the following compounds will not react with HIO,4?


https://dl.doubtnut.com/l/_DfBrdkMfOYUO
https://dl.doubtnut.com/l/_vM5UuBb7Ga04

OH

A OH
OH
“,
2
74
B OH
od
(CH, )_;C// 70OH
C.
WOH
(CH;3);3C ///////OH
D.
Answer: C

o Watch Video Solution

128. Carbon oxygen

double

bond

are

easily

reduced

by

NaBH, or LiAlH,. The actual reducing agent in these reduction is


https://dl.doubtnut.com/l/_vM5UuBb7Ga04
https://dl.doubtnut.com/l/_nohllHaagPHF

hrdride ion (H _)

O OH
H,0

N \ =}
. - — —C— 4
K_/A \ —> \ + OH

The metal hydrogen bond in LiAlH, is more than polar than metal

hydrogen bond in NaBHj. As a result LiAlH, is strong reducing agent
than NaBH,. Esters, carboxylic acids, amides cannot be reduced by
NaBH,

The carbonyl group of amide of reduced to methylene group by LiAlH,

Find the correct product of the following reaction:

O
H,C | _/@/\__ A N, LiAlH,

0
|

S
A H;C—C@—CHZ—N H,

(0]
|l
(b) H;C—L“H—&\ —C—NH,

/
B. OH =/
OH )
>‘@ \f"“\
c "/ "NH,

D. No reaction


https://dl.doubtnut.com/l/_nohllHaagPHF

Answer: C

o Watch Video Solution

129. Carbon oxygen double bond are easily reduced by
NaBH, or LiAlH,. The actual reducing agent in these reduction is

hrdride ion (H - )

He —(C— S H,0 \ ‘x‘j

The metal hydrogen bond in LiAlH4 is more than polar than metal
hydrogen bond in NaBHj. As a result LiAlH, is strong reducing agent
than NaBHj,. Esters, carboxylic acids, amides cannot be reduced by
NaBH,

The carbonyl group of amide of reduced to methylene group by Li AlH,4
O
NaBD, .
> X7 ; Identity X :
H»,O

- , Identify X:



https://dl.doubtnut.com/l/_nohllHaagPHF
https://dl.doubtnut.com/l/_T1FwH9qKO677



https://dl.doubtnut.com/l/_T1FwH9qKO677

Answer: B

o Watch Video Solution

130. Carbon oxygen double bond are easily reduced by
NaBH, or LiAlH,. The actual reducing agent in these reduction is
hrdride ion (H*)

<y ° om
—— (Y e

H@

The metal hydrogen bond in LiAlH, is more than polar than metal
hydrogen bond in NaBHj,. As a result LiAlH, is strong reducing agent
than NaBH,. Esters, carboxylic acids, amides cannot be reduced by

NaBH,

The carbonyl group of amide of reduced to methylene group by Li AlH,

o
I / O\ LiAlH,

CH;—C—CH,—CH—CH, —5 5 "+ ldentity *Y":

2

OH OD

| |
A.CH; — CH — CH, — CH — CHj


https://dl.doubtnut.com/l/_T1FwH9qKO677
https://dl.doubtnut.com/l/_DOUN5vdLe5U2

OH
|
B. CH; — |c — CH, — CH; — OD

D
oD oD

| |
C.CH; — CH — CH, — OH — CH;

oD OD

| |
D.CH; — CH — CH, — CH — CH;,

Answer: D

o Watch Video Solution

131. An organic compound (A) on treatment with CHCl3 and KOH
gives (Y) and (Z) both of which in turn gives the same compound (T) when
distilled with Zn. Oxidation of (T) Yields (S) of formula C;HzO,. The
sodium salt of (S) with sodalime gives (P) which can also be obtained by
distilling (X).

The molecular weight of compound (X) is:

A 122

B. 94


https://dl.doubtnut.com/l/_DOUN5vdLe5U2
https://dl.doubtnut.com/l/_eX2E2wWn726n

C.106

D.78

Answer: B

o Watch Video Solution

132. An organic compound (A) on treatment with CHCl; and KOH
gives (Y) and (Z) both of which in turn gives the same compound (T) when
distilled with Zn. Oxidation of (T) Yields (S) of formula C;HgO,. The
sodium salt of (S) with sodalime gives (P) which can also be obtained by
distilling (X).

The compound (T) is

OH
)
A.
B . ‘_\‘H .
i s T i
| P \‘ !
[ { /
L :


https://dl.doubtnut.com/l/_eX2E2wWn726n
https://dl.doubtnut.com/l/_Cg6ETLOvI9Ok

e
C.
COOH
!
|
l\‘\\
g )
[ N
L
\»_\\“‘f .
D. N
Answer: C

o Watch Video Solution

133. An organic compound (A) on treatment with CHCl3 and KOH
gives (Y) and (Z) both of which in turn gives the same compound (T) when
distilled with Zn. Oxidation of (T) Yields (S) of formula C7;HgO>. The

sodium salt of (S) with sodalime gives (P) which can also be obtained by


https://dl.doubtnut.com/l/_Cg6ETLOvI9Ok
https://dl.doubtnut.com/l/_k2yppK9jlwYD

distilling (X).

Compounds (Y) and (Z) could be:

H OH
CHO
(@ and
CHO

H

A.

@T(H( andb

B. CHO

}{()

@ b

g\'(K)H L|)
1 AL
S N
@ () and )

ey -
N ~

Answer: B

o Watch Video Solution

134. A tertiary alcohol (H) upon acid-catalysed dehydration gives a
product (I). Ozonolysis of (I) leads to compounds (J) and (K). Compound ())
upon reaction with KOH gives benzyl alcohol and a compound (L),

whereas (K) on reaction with KOH gives only (M).


https://dl.doubtnut.com/l/_k2yppK9jlwYD
https://dl.doubtnut.com/l/_TL7hwe9oEckT

Hyc

(M) = Ph

Ph H

Compound (H) is formed by the reaction of:

0
o ){CH + PhMgBr
A. 3

O

., \
B. 'h )\c'u 7 PhCHMgBr

0
)( + PhCH,MgBr
Ph” “H

C
0 CH;
) RN
D, Ph/OH Ph”” “MgBr
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_TL7hwe9oEckT

135. A tertiary alcohol (H) upon acid-catalysed dehydration gives a
product (I). Ozonolysis of (I) leads to compounds (J) and (K). Compound (J)
upon reaction with KOH gives benzyl alcohol and a compound (L),

whereas (K) on reaction with KOH gives only (M).

O
H;C Ph

(M) =
Ph H

The structurer of compound (1) is:

(CH;

Ph
(@) H >:< Ph

A

H:C

Ph
H>:\/Ph

Ph e (“;
e
H” NCH.pPh


https://dl.doubtnut.com/l/_3xUvqwrfurKc

Answer: A

o Watch Video Solution

136. A tertiary alcohol (H) upon acid-catalysed dehydration gives a
product (I). Ozonolysis of (I) leads to compounds (J) and (K). Compound ())
upon reaction with KOH gives benzyl alcohol and a compound (L),

whereas (K) on reaction with KOH gives only (M).

O
H3C Ph

(M) =
Ph H

The structures of compounds ()), (K), and (L), respectively, are:


https://dl.doubtnut.com/l/_3xUvqwrfurKc
https://dl.doubtnut.com/l/_G8q5Bm7GJLqZ

@) o o

| I I
Ph — C — CHs, Ph — CHy — C — CH3 and Ph— CH, — C — O°

o o (@)

] ] ]
B.Ph—C —H,Ph—CHy,—C — H and Ph —C — OPK?®

o @) @)

I I I
C.Ph—C —CH;,Ph—CHy,—C —H and CH; — C — OPK®

o o o

I I I
D.Ph—C — H,Ph—C —CH; and Ph— C — O°K®

Answer: D

o Watch Video Solution

137. Alcohols are converted to tosylates by treatment with p-toluence

sulfonyl chloride (TsCl) in the presence of pyridine. This overall process
S) (S
converts a poor leaving group | H | into good one [ T's |. A tosylate is a

good leaving group its conjugates acid p-touence sulfonic acid is strong
acid. Beacuse alkyl tosylates have food leaving groups, they undergo both

nucleophilic substitution and 8 — elimination.


https://dl.doubtnut.com/l/_G8q5Bm7GJLqZ
https://dl.doubtnut.com/l/_hjtq5eZIWUXB

C“»*C*ﬁ@m—g g

=

poor leaving Tosyl chloride

group (TsCly
I
S A Gy
N
0 &
H
Or
CH;CH:@ 1 Good leaving group
/\ Qa2 ® 9o
NaOCH; + CH:CHy0Ts 22¥s CHyCH,—OCH; + NaOTs
®0
Es
Kom_gﬁ\-‘—cm-/ CoTs 2, H,C=CH, + KOTs
(Alcoholic)

Find the major product of the following reaction:

H:C (“) 00
\///C—-AOH*?'CI— AQ'CH:; Pyridine ~ KCN
CH;CH, (”)
H;C
He 2
\\\/*(‘ N
CH;CH-
A.

CHs— CH=C <“

B CH,
CH;
S _AH
©N -fc\/
C *CHACH;
H,
HiCo 2
(d S0 CHACH,


https://dl.doubtnut.com/l/_hjtq5eZIWUXB

Answer: C

o Watch Video Solution

138. Alcohols are converted to tosylates by treatment with p-toluence

sulfonyl chloride (TsCl) in the presence of pyridine. This overall process

S) (S
converts a poor leaving group | H | into good one [ T's |.Atosylate is a

good leaving group its conjugates acid p-touence sulfonic acid is strong
acid. Beacuse alkyl tosylates have food leaving groups, they undergo both

nucleophilic substitution and 8 — elimination.

(0]
CH}C}IZ ‘Fb-m + C]77,7|S!, / \ CH Pyridine

poor leaving Tosyl chioride

group (TsC1)
i
0 @T
H
Or

(‘lh(‘Hr{—QTﬂ T Good leaving group

@2 Sy 1)
NaOCH; + CH:CH, RATLLN CHyCHy—OCH; + NaOTs

. —
& =

Ve \ N E- ®0
KOH + HZCH-YCH>—OTs¥= H,C=CH, + KOTs
(Alcoholic)


https://dl.doubtnut.com/l/_hjtq5eZIWUXB
https://dl.doubtnut.com/l/_Hl30dsunOU4J

What would be the major product of the following reactions?

o w
Q_ OH + Ts_ ) Pyrdine  CHyCHONa

e

-
\ \/»—~-()CH:CH3
B. ™

(c) O O

/
C.

i/\ O-—-CH=CH,
D. S cth

Answer: A

o Watch Video Solution

139. Alcohols are converted to tosylates by treatment with p-toluence

sulfonyl chloride (TsCl) in the presence of pyridine. This overall process


https://dl.doubtnut.com/l/_Hl30dsunOU4J
https://dl.doubtnut.com/l/_3BBp8SQI2fYK

S) (S
converts a poor leaving group | H | into good one [ T's |.A tosylate is a

good leaving group its conjugates acid p-touence sulfonic acid is strong
acid. Beacuse alkyl tosylates have food leaving groups, they undergo both

nucleophilic substitution and 8 — elimination.

ﬁ
Moo
CH;CHy +OH |+ C_8 @ Pyridi
s +=OH | S CH yridine
- I \= T

|
poor leaving o Tosyl chloride
group (TsCly
I
CH}CHZ—O—|SI©~CH3+ @ +cf
-~

N

) °
H

Or
(‘llx('ngF()Ts} T Good leaving group
@2 /NS ® o
NaOCH; + CHyCH, - -OTs £ CHyCH,—OCH; + NaOTs
N - @O

KOH + HLCH,¥CHs OTs$= HyC==Cl, + KOTs
(Alcohohic)

Idetify the final product of the following sequences of reactions:

7
OH_ TsCl  al. KOH = 0s0, = HIO,
Pyridine ’ 7 ’ ’

(@) U /



https://dl.doubtnut.com/l/_3BBp8SQI2fYK

Answer: B

° Watch Video Solution

140. Acid catalysed conversation of 1,2-diol or vicinal, into carbonyl

compound known as pinocaol-pinacolone rearrangement.


https://dl.doubtnut.com/l/_3BBp8SQI2fYK
https://dl.doubtnut.com/l/_2qxSmr99Y9zY

T‘H; L"’H; (,H‘; CH3

¢ N\ N\
S C- J\_) </_/-C‘cﬂ N

OH OH Q)H2 ‘\
\~H:O
TH3 'CH3 CH CHz \
/AL s
[—/VI —<:/ Shift >—C
| NOH =~ i
CH; CH;,

Generally more electron donating group migrate during mechanism,
migration of H is faster because of its smaller size.

What would be the major product of reaction?

OH
Ph DIl 1,50,


https://dl.doubtnut.com/l/_2qxSmr99Y9zY

((,) . Ph
L Do
C.
74 Ph
“Ph
D.
Answer: C

o Watch Video Solution

141. Acid catalysed conversation of 1,2-diol or vicinal, into carbonyl

compound known as pinocaol-pinacolone rearrangement.

7 N\

‘H: (I.H; "H; CH}

CH
N we N | 3
O / \\ L_)// N ,7‘*//_\\ -

h__m —_—

OH OH O |

'—H:O

CH; CH; CH (Hz

| | 7\, Ph- \
L OO/4 O\ —
o s Q -
NOH
J~

(,H; CH;

| - @_ﬂm _.-L@
\



https://dl.doubtnut.com/l/_2qxSmr99Y9zY
https://dl.doubtnut.com/l/_4Bh9xiQztPUm

Generally more electron donating group migrate during mechanism,

migration of H is faster because of its smaller size.

OH OH

: : l l : : H@ . LiAlH4 . Conc. H28044\
rd 7 A

In this sequence of reaction final product is"

O
o X
A
OH
/\
AN
B.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_4Bh9xiQztPUm
https://dl.doubtnut.com/l/_4vaR4Lv5SQMH

142. Acid catalysed conversation of 1,2-diol or vicinal, into carbonyl

compound known as pinocaol-pinacolone rearrangement

(J,‘H; (“H; CH; CH;
TR e L
= ] ] = =/ ] g\~ T

OH OH OH@Hv !

o

LH; CH; CH (H

| C**C%J s:‘ni | > C _( M_} —
1 \'OH }/l\
R

| o
| ’uh L\‘H;
| sH;C—C——C—/ Ny He¢—C N
“ ' \— ‘(‘) /\\ —/
-
eo\(k | ‘( i
HX N

Generally more electron donating group migrate during mechanism

migration of H is faster because of its smaller size.

Which of the following is not correct about this rearrangement?

A. OR R cl

B. The carboncation is stabilised by 1,2-shift

C. Migration aptitude for substituentisin R — > H — > CgH;

D. Product of reaction is carbonyl compound.


https://dl.doubtnut.com/l/_4vaR4Lv5SQMH

Answer: C

° Watch Video Solution

143. Compound (A) C'9gH»505 is insoluble in ag. NaOH bu not is NaHCO3

S

|
. Treatment of (A) with DMSO | CH3 — § — CHs3 | in alkali give (B)

C11H140,. Treatment of (A) with strong alkali alone give an isomeric
compound (C). When (A) is reflux with HI, CH3I is obtained, compound
(B) is insoluble in alkali and decolurises Bry /CCly. (B) on treating with
strong base gives (D), an isomer of (B). Ozonolysis (C) of gives (E), Cs HgO
and isomer of vanilline. Ozolysis of (D) gives (F) CqH17O3, which is
identical with product of methylation of vanilline (4-hydroxy-3-methoxy
benzaldehyde).

Structure of compound (A) is:

H3C0/\
@)

OH


https://dl.doubtnut.com/l/_4vaR4Lv5SQMH
https://dl.doubtnut.com/l/_lPkX8fn36VEH

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_lPkX8fn36VEH

144. Compound (A) CoH550, is insoluble in aq. NaOH bu not is NaHC O3

S

||
. Treatment of (A) with DMSO | CH3 — S — CHj3 | in alkali give (B)

C11H1404. Treatment of (A) with strong alkali alone give an isomeric
compound (C). When (A) is reflux with HI, CH3I is obtained, compound
(B) is insoluble in alkali and decolurises Bry /CCly. (B) on treating with
strong base gives (D), an isomer of (B). Ozonolysis (C) of gives (E), Cs HgO
and isomer of vanilline. Ozolysis of (D) gives (F) CqH,703, which is
identical with product of methylation of vanilline (4-hydroxy-3-methoxy
benzaldehyde).

Compound (B) is:

0O
-

(a) (D

A. OCHj3

OCH;


https://dl.doubtnut.com/l/_Jtxev4NOSoCc

,“_
S

3

3

¢

O OCH:
OCH;

C. OCH}

—

@
o’ T |
D 0 CH: CH=CH:

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_Jtxev4NOSoCc

145. Compound (A) C9H350, is insoluble in ag. NaOH bu not is NaHC'O3

S

||
. Treatment of (A) with DMSO | CH3 — S — CHj3 | in alkali give (B)

C11H1404. Treatment of (A) with strong alkali alone give an isomeric
compound (C). When (A) is reflux with HI, CH3I is obtained, compound
(B) is insoluble in alkali and decolurises Bry /CCly. (B) on treating with
strong base gives (D), an isomer of (B). Ozonolysis (C) of gives (E), Cs HgO
and isomer of vanilline. Ozolysis of (D) gives (F) CqH,703, which is
identical with product of methylation of vanilline (4-hydroxy-3-methoxy
benzaldehyde).

Compound (E) and (F) are respectively:

Ho 0 H )0

' OH [ 0CH:
A. OCH, OCH,

Py (
o (O D
{\O(H
OCH, OH
B.
. H. 0
HAC .\/() Y
1 /()H e
(O] A
‘\H \\( CH-OH
C OH oCH:


https://dl.doubtnut.com/l/_8ZUrcLmrwCbk

D. None of these

Answer: A

° View Text Solution

Column (1)

OH Colunmm (i1;
w( Y

£. White turbidity w;
(b) CH, CH,0H ity with HCVZnc1,

(c) CH, H/CH~ on Q. Violet colour with Fe( 3

R. Colour ch
Ph Ange ofNayCry0,. H®

146.

CH,

(d) CHy — C—On S. 12 1O H, gives bright
’ ‘{ yellow ppt.
CH,

° Watch Video Solution



https://dl.doubtnut.com/l/_8ZUrcLmrwCbk
https://dl.doubtnut.com/l/_8rwIgia8M5ol

O
I
on

(@) CHy—CH (‘ﬁ()hcx‘H-—(H»CH — I Involve carbocation

formation
Cl,y
I 1Y 10
b CH; —C—0—CH—Ph—w——— 0. Acyl cleavage
CH,
CH;
‘ Cone. HI o
(¢) CH;CH»—0—C—CH3y ——— R. Racemic mixture
1
i
CH,
D
__j/ \\_ Hl
(d) CH+ O _ NO» = 5. Product gives
147 haloform test

° View Text Solution

148.

(a) Fries rearrangement (P) Acid catalysed rearrangement
(b) Claisen rearrangement (@) Concerned with ester

(¢) Buyer-Viliger’s rearrangement (R) Involve electrophilic substitut
(d) Pinacole-Pinacolone (S) Intramolecular rearrangement

° View Text Solution



https://dl.doubtnut.com/l/_Ua1dNLWtyAFx
https://dl.doubtnut.com/l/_Aymf0F5d56Cl

149.

(a) Fries rearrangement P. Acid catalysed rcarrangement
(b) Claisen rearrangement (. Concerned with ester
(¢) Baver-Villiger’'s rearrangement R. Involve clectrophilic substitution

(d) Pinacole-Pinacolone
rearrangement

S. Intramolccular rearrangement

CH3 OH
Conc. H;,SO4

() Ph—f-— CH—CHy —CH3 —— . Bimolecular —
N
H

o View Text Solution

150.

PoKAMnO,. A OH

_(a) Oxidation of 17 alcohol 1n aldehyde

([ () - HCT-CrOs
©

AN \\
(c) //CDT“('T”' R lone’s reagent
\N //]1

S PCC

Q Collin's reageni

(d) Oxidation of alkvne into acid

o View Text Solution

151.

VSQ

Identification of1°,2° and 3° Alcohol (P)
Identification of1°,2° and 3°Nitroalkane (Q)
Formation of alcohol by anti-Markownikoff’s additioin (R)

)

W

Formation of alcohol by Markownikoff’s addition (

Oxym
Cu /3(
Victor
Huydr


https://dl.doubtnut.com/l/_hPOC2tA4b54h
https://dl.doubtnut.com/l/_u6aqDTVH2t9G
https://dl.doubtnut.com/l/_2MupPvKBj4Yi

° Watch Video Solution

152.

((a), Phenol+Neutral FeCls, (P), No reaction), ((b), Phenol Bry(aq.), (Q).
((d), Picric acid + NaHCO3, (S), CO2gas is envoled)

° Watch Video Solution

O Ph
l .‘ HE H,0
8. (a) CH; —C—0— C —Ph———

Ph
CH; O
| l H® H,0
(b) CH_;—,C—('—O—Ph —
CH;
CH.

| H H-0
(¢c) CH;—0—C —CH; ——

I

CH,

HI

153. CH;

P. Unimolecular

0. Bimolecular

R. Alkyl oxygen bond
cleavage

S. Acyl oxygen bond
cleavage

o View Text Solution



https://dl.doubtnut.com/l/_2MupPvKBj4Yi
https://dl.doubtnut.com/l/_U3C1LaHVr8PU
https://dl.doubtnut.com/l/_cO35aW18jNP5

154. How many compounds A through G are enol tautomer of 2-

butanone?
H OH
OH OH
‘ X ’ )\/ s >::/ . /\\y
(A) (B) ' ©) (D)
OH :
/\/\Oﬁ ; )\/j’ /\7\0H :
(E) - ® G)

o View Text Solution

155. Consider the pairs of ethers A through F shown below. To the right of
each pairs is a description of reaction conditions to be applied to each.
One compound of the pair will react more rapidly than the other. Find out

number of reactions in which first ether more rapidly cleaved than


https://dl.doubtnut.com/l/_Hb2hR2LAqvoV
https://dl.doubtnut.com/l/_ddPyp60SBmhk

second.

Ether pairs

Conditions
H:C
w Q_O“CH@H;» 2 .
3

Treated with HBr in
CH3—CN, 40°C
H,C
H.C
(B) >Q~0—C(CH3)‘ and Treated with H,S0,
HsC ) in CHyCN. 40°C
CyHs

N\

- 0—CH;
C;H_<><__)— :
\ Treated with H;S04
/2N ‘_@
0 (Yol w ot

in CH4yCN, 40°C

(— N—

CH;0 HO o~ Trened i 6
and 1 /2\ aqueous H,SO04,
(D) o oH 07 0CH:
CH(CH3):

) ith 5%
CH(CH3):  Treated with .
and ~ g7 ( aqueous H,S04, 25°C

d Treated with H*/H,0
-"O"’CQHs an
(3] < :)—*CH; -
@ﬂc&mr !

o View Text Solution

156. Find out number of moles of HIO, that will react with following

compund



https://dl.doubtnut.com/l/_ddPyp60SBmhk
https://dl.doubtnut.com/l/_XxbtcgSlub6g

CHOH
CHOH

HOH
CHOM
CH,OH


https://dl.doubtnut.com/l/_XxbtcgSlub6g

° Watch Video Solution

157. How many mole of ‘HI' will react with

OCH;
OCH

(2d

OCH

lad

° Watch Video Solution



https://dl.doubtnut.com/l/_XxbtcgSlub6g
https://dl.doubtnut.com/l/_nClbDKS5fQfq

CH,—OH

=0

¢H—0H SHIO, _
CH—OH B
CH—OH

158. , Find out

the value of 'X'

o Watch Video Solution

159.R — CH, — OH —— R — CH, — Cl

find out the number that can be used for above conversion, from the


https://dl.doubtnut.com/l/_WCq0BrBBv1cD
https://dl.doubtnut.com/l/_HLC4BOHssaIQ

following.

HCIl, ZnCl,, PCl3, PCl;, POCl3, SOClsy, NaCl, T'sCl

° Watch Video Solution

160. Identify number of alcohols those will show rearrangement during

dehydration will concentrate HySOy.

N OH OH
S Sile
OH OH 4
CH,CH,

OH
__OH
U 5 74 \‘\ ~, m ) Q/i\ /%\
—_ ' OH "
/L H ' H,C” | OH

° Watch Video Solution

161. Find out number of reagents that converts 1( o) alcohols to

KMnO, | 138 A
( A4\H 1A > KyCry04|Dil H,80,4 . Ceric ammonium nitrate

) (B) ©

i .

\ G-) \\_‘\
H,C—S—CH; (DMSO) | &/ _\/N——-H\ Cry0 &//_ NB Cr0),

(D) = a =

aldehyde. (&) )

I ° Watch Video Solution ]


https://dl.doubtnut.com/l/_HLC4BOHssaIQ
https://dl.doubtnut.com/l/_5pg0UHNcvUuq
https://dl.doubtnut.com/l/_0ZU6YSsJUU4v

162. Find out number of alcohols that can give positive iodoform test.

L ~n H
OH
(c) @

(2) (b)
. OH HO
o U S
(e) ® ‘ ® ()

° Watch Video Solution

163. How many mole of HI racts with glycerol to give 2-iodopropane?

° Watch Video Solution

164. Find out final product of following reactions:

“‘_ ﬂ\ I [ 1ATH 1 e

() -~ \\ N . \ SR :L-,
U OCHs —7== o
Ol Ol

° Watch Video Solution



https://dl.doubtnut.com/l/_0ZU6YSsJUU4v
https://dl.doubtnut.com/l/_ajJmX0Qi3jQ4
https://dl.doubtnut.com/l/_15CIvuOplz0x
https://dl.doubtnut.com/l/_deJQpTPyrtvn

165. Find out final product of following reactions:

@ -
Brz CZEIS (0] . Dil. KMUO4 . HIO4 N
hv

° Watch Video Solution

166. Find out final product of following reactions:

OH

1. Mg, THf
HBr 2. CO;, LiAIH, NaH

—>

aHvo o e

° Watch Video Solution

167. Find out final product of following reactions:

A

OH
SOCl, C,H; ONa Bry ONaNH,  H-. Pd-BasO,

_— —
(1,

| ° View Text Solution


https://dl.doubtnut.com/l/_deJQpTPyrtvn
https://dl.doubtnut.com/l/_oPHJKY7wJXF4
https://dl.doubtnut.com/l/_VScySPkAAK5l
https://dl.doubtnut.com/l/_tZZvXwH5opqQ

168. Find out final product of following reactions:

Br,. v ale. KOH BH, PCC
D —

H:():()”

° Watch Video Solution

169. Find out final product of following reactions:

Soch, NaSH =~ NaOH = Ph—CH,-—CI

Ph—CH, —OH — =" > -

° Watch Video Solution

170. Find out final product of following reactions:

PBr M
OH 3% g N DOD

THF

A 4

o Watch Video Solution



https://dl.doubtnut.com/l/_tZZvXwH5opqQ
https://dl.doubtnut.com/l/_iFx3px3gD8qf
https://dl.doubtnut.com/l/_bVqHp5Akw9KP
https://dl.doubtnut.com/l/_keL7hVmAS6W9

171. Find out final product of following reactions:

KMO,  GHOH  PhMghr _
OH H® H®/H,0

N

o Watch Video Solution

172. Find out final product of following reactions:

/U

I>___ HBr  MgaA L] LY
’ H;0,, hv = Ether H®/HOH -

o View Text Solution

173. Find out final product of following reactions:

ph S 0 KMo, LA HBe ke KOM O
1 ——y ey Zn—H O;

.

o Watch Video Solution



https://dl.doubtnut.com/l/_2rRio1iIE83Y
https://dl.doubtnut.com/l/_XIdHeXLV6NqY
https://dl.doubtnut.com/l/_zyHXGtvGTTvZ

